| MATHEMATICAL REASONING

Mathematical reasuming iz s pact of verhal
reasoning, For UGC-NEIT mathematical
ressoncng we have to read only

1. Beries Completion

2. Coding and Decoding

3. Classifization (0dd Men Oul)

4. Analogical Relationship
The word verbal is defined as pevrainge to
words rather than things, Verbul reazoning
teata use word, latter and numibers, and require
logical reazoming and a reasunablc knowledge of
the English Ianzusge. It is also necesaary tobe
tamiliar with simple manipulations with
figurcs, ike addition, subtractions, division and
multiplication. The problems of number in teat.
of reasoning will net requive any advanced
Inowledge of matly's instead, they wiil teat how
logical vour are, that is how well vou reason and
think while carvving out sinple arichnstic
mantpulaticns. Vorbal reasoning iacludes four
broad eategeries, nomely series compietion,
classifieation (finding the odd man out),
analogical relationsh-ps and coding in additing to
other types of logical and reasvning goestions.

SERIES COMPLETIONS

In series, letters or digite arc given infs spdrific
sequenceforder and you have to_find nul HHe
next word, letter or digit o complete tHe'%iven
series. Thera miay be questwiiein which vou
have to identity the last one of bwrg LeLLters oy
digits to cimtinue the sories orbe fidd @ missing
letinr or digit in between tho piven letters and
aumbers to contimfethescalience followed in
the guestion. Asit is Eh8eeis no set pattern and
cach guestiod oy follow with a diffoeent
patternor seguenlisl arrangement of letrra e
digits, which Yeu\have to deteet TEING wany
commén ®ense and reasoning sbility ac the
gmsieatiof vour speed.

Thercgamannly three types of verbal serips
sampletion yusstiona, namely:

. letter Serips

2. Number Beries

3. Lebter apd Number Mived Seres
Generally 170162 ask questions based only oo

number series and lettor series.

|ILETTER SERTES|

In the lotler series, some [etters arclgiven that
fullow a particulir sequance or gader, Bou heve
to delect the patrern from the faven lettors and
find the missing letter or thedmext letter to
convtinue the pattern.

Ilints to Solve the Léttdp Senfes

There are no sot rules. ] pfach case you have o
discover the pagern adopted. There ecan be
oinission of lette¥e in s order. for example, one
each time,

The easiegh wanto tackie leLier sories guestions
is 1o bgyvaryving ofthe position of the alphatiet.
und ita posithod Dumber in both forward and

baelward sequences.

For instanees,
A B C o .. and so on.
1 g 3 4 forwanil)
26 25 24 23 backward)

Also remember that to continee the seriea alier
Z, we again begin with A In other words, the
soquence is kepl in a circular erder, There may
be several s-milar pallerns in letder scriza.

Some skipping patterne ave deseribed balow.

(i} Eegular order: The number of lotters
akipped remaine the same.

fii} Tnereasing order: Each time the pumber
of letfers skipped mevesses in a given
patiern, For example,
ACFIO?
Answer: 7
Here, each time the number of letters

- shpped iwreases by coe.

iii) Deercasing order: Fach time the

number of lotters skipped decrogwes in a

i}



mven pallern, For example,
.I:J:.l. {‘} L P S 'I:;I
Answer: H
Here the number of lettors skipped
decrenses by one each ume, that is, firec B,
then 4, then 3, and so on.
[nterlinked series: For cxample
ANTJIMREY
Answer: Y
Here, there are two intorlinked series,
Sumetimes there tony Lo repetlilion of
leLter in sot order &2, 0 anbbbe,...., 7R
letier ia ropoate:d Lwice, nawt ant could e
ced.
Somelimes n numhber of letters ave
arranged 1n a serics. In Lhis sevies zome
lettoes ares left out and the candidate are
pequired to (il ap the blanks by pieking
aut appropriate lettorz from the given
allernatives. Yor example: Find tha
mizsing lettors of the aories d_bdd_
d_chd_e 4.
Answer: echddb
I this serics, Lhres alphabela b d, & hawve
boen arranged in a pattern, which have
becn repeated. The pattern is Lo be
discovercd by trying scquences, Only
cobdidb is the correcl answear beeslss when
jnaerted in sequenee, it make the pattern of
repeating debul.

[NUMBER SERIES]

In the number series, some nuinbars, are
arranged in a partwcular sequencel A the
numbery form 2 series aed changdin o gartam
ardor. Sometimes. ane o7 e DN MberE ute
wrongly put in the number serles One is
requived te observe theMrend infwrhich the
aumbeta chanvge in the ssbies fand fnd o
which numbermumbers misfitfinle Lhe series
-t umberieum berd is che ODD XUMBER of
lhe sevies. The ot partern s Lo [Luleut the
missitg ar J@ss nimher of & series,

Follpwing ardeerme of the importanl oules
or nrdemoinewhich the nomber series can be
magdet

fiv)

{v)

fvi)

Pure serics
T this Lype of mumber serics, the number jtself
nbrws certain order so thul the eharacter ol the
geries can ho fnund oul.
It may be:

- Porlect equsrn

Prorfeet vube
- Primn
- Combinalion

IHfference sertes

Unrerthis category. the change in oeder [uk thi
differeree berwean exch conzecutive number of
Ibe seties 35 found out

Change in order for the Differenae Series

1. Dilfarcnce belwesn eonacculive nambiergis
SATIE.

3. ifferences betwoen consesitive numbers
arec in arithmetic progresgion (A FY

3. Difforence belween consciffive Rumbers iz
a perfect number,

4. Differences hetwion @onsagutive cumbeors
are multiples of e gombicr.

5. Differenceshotwidnednsscutive nmmbars
arc prims gumbos.

6. Differsfipe hatween conseoutive mumbers s

o pokfoat cibe,

[ Terénce hetween consooutive nambers 13

mgeumetvic progression (G P,

=1

Ratic series

T ndePrhis catesory, the change in order for the

srtins herwrees cach enmiseeulive number of the

seTics 1s found ou.

Mlixed series

Herz. the numbers oheying various oxdors of

Lwo or more diffcrent types of series are

arrarged altcrnately in a aingle numher

LEries.

Change in order for the Batin series

1. KEniio herween each conscettive number is
the gnmo,

% Ralio botween cach conseeutive numbers i
in arilhunetic progression [ACFP).

N, Rotio belween conscoutive numbers 15
perfect square number.



e DAl ey DO CORSECHTIWE TIMMDEYS 15 The | Answears

raultiple of a4 number.

3. Raliv between consecutive murhers is o
prime neanber.

6. Hatio between consccutive numhbors is 5
porfoct cule nemher.

7. latiosbelween comoecutive numbora are
int gromelric progresaion (GP.).

|OTHER FORMATS]

Sometimes the muoubers are arranged in a fig,
stich as square, cube or civele and we have to
[ind out either the missing number or the
Wrony ore.

Directions: fii the guestion given befow, o
defintie relationship rxists {1 the numbers
written inside /ouiside the geometrical figures,
Determine the missing umber rapresented, by
& Quastian iark ()

"

1 B
¢ 2 20 %4 7 ];'LE:\ 5
oy

! 3

3

() 9 5
) 7 @@ 1
Sul (e) 7
(Bx (4x1=6 8 =G

64— (5% =0 0=a]
(Fx8) (3% 7= 14, 142=, 106 =4 ? O

MISSING TERMS

Drivections: Find the rrissigucmber i each
of the following questionf

1. I T

41 ) 149

15 45 N7

{4} 20 (30

GNE (d) 33
2. ¢Mag \alt w

A4 V%6 8l

45 ] 1

(2) 71 (b) 66

{c) 6% (d} 5y

1.0} Bum of all hurizontal rows is equad to 120
2. (s} S of nll vertieal columns s equal to 200,

YERDAL CLASSIFICATION [(ODD MAN
oUT)

[n this type of questions e, five or i terms
arc given in such a way Lhat one 15 dilfertnt
from the cther. The term. which dows not Belong
to that group, s called an odd term, Candidates
have to select this udd Lerm.

I usually com prises

(1) Letier Wnssitication

{2} Mumber clascilestion

{3) Wordfitem olassification.

LETTER CLASSIFICATION

A group of slphabketsdr individial lotters see
given, and yowh@Ew tafiod th- 26t or individual
which dots dut beleng Lo that group. We can
derive rabationghips on the following basis

{a) Positacryabletiors

ih) Brealland capital lettors

{oT % rwelsanid conaonents

fei Bapetition and skipping pattern

(e Ratter formnation

NUMBEER CLASSIFICATION

In this fype of guestions numbers or group of
oumbera replaces the lettors. Qe Eroup o
individuzl number ie difforont from the rest.
We con derive relationship on the [ollawing
basis: '

1 {a) Kwen, odd or prime numbers

) Iotepera, vationnl, ieratzonal numbers
te) Multiple of a nunber

(d) Submultiple of u number

() Factor of a number

(f Sguares of numbers

[g)] Cubes of numbers

(h) Sum of the number:

JF Dilferconce of the nuinbess

{11 Pasition of the numbers [ miven group.

WORD/ATEM CLASSIFICATION
In theae questiona a group of foor, five or vix
word/items are given, one of which dozenot



heloryy to the grody, ¥ou oive W 1dentiry Lhe 0 [

o11e,

Theve are weyveral hazic relalinnsyips thal could
oxisl elween words

Bome nt them ave:

{a} Halalwnship hasod on meaning

(k| nler-relatinrship of words

(r1 Ward consisteney relationship

fd) Weorrd formation relationship

(i1 Punctional relavionzhip

Vou have to determine the relationship belween

{l1e givon torms and thei dentity the odd wrm.

Sore sthoer Lipe of anslogical relitinnships are:

it Anlonymous relstionshbip: Opposite in
meaning

(b Svnonymous relalionship: Same In
MEATING

{0 Classification relationship: Biclogical!
Fulanicsl FhyvaicaliChemical classificalion
or Seiemtific or Historical classitication.

[y Artiele purpose relativnship

ie) Tiwe zequence redationship

i) Cause and effecl relationship

1) Warker arlicle relationship

i Tootobjecl relationskin

(i Whole part ov part whole relalionship

iin Depree of differsnce relationship: Same
neaning but different in degres oaly

(k) Worlkar tool relationship

Il Bexrelationship

‘m) Family reZationship (Bleod Relationzhapy

) Final produer ard raw ma todlal
relationship

o) Symbolic relatiouship

fn) Placcrnlalionship

(b Assorialion rolationship

vy Numerical relationship

() Specinlisl and subject@ciabonap

() Fhahinz nnd chere callzg

(ul Agerolationship

{v} Comparative relationship

(w1} Tiahit ralailighsto

) Quulitamve ShquRpluative relatonshep

1 Tidicy velalisnghip

As for Bmample: Cavpentor, biacksmith,

pouldsgnith, sailor, and tailor,

cindll Larpeenr . aldlbReaiiiiLel,  SALatiitLAy i
tailor form m group beeause Lhese Zour change
sheo formw of the object by applyice theiy =kl
Hrwever, a zailor does not belone Lo s geoun,
S 'zailor” 15 the odd wan out. Thugs, sailor’ @
the angwer,

[SOLVED EXAMPLES
TYPE-I

Iln this type of guestlons. fouar
alternatives ace given, ol which three are
gimilar to one another while the fourth
one is different. So you are reguired to
pick nut the item which does not helong
to that group.
Fx, 1. Tind the ODLD one out
) [hffaront by Boepnrdte
(el 1istinet (d1 Sipudat
Except {d), all othoei are symonyme.
Henee, the answor (20}
Frue of the following fivesre alilois -
cerlain wiydnilso fopm a Zreumn. The:
ooe, which deds nor heloag to Lhat
graup ig
& Tiger {1 Licn
1tdgmi_at () fTogue
Excepr (17, 211 athers are carnivoreus
afimal while hovge *= a hermworous
animtl. Benes, tlie answer 15 (d)

TYPETD
In this type of questions, four numbers or
words are given, out of which three are
alike in some manner while one is
different and Lthis numberiwerd is to he
chosen as the answer.

8al.

L=, 2.

Snl.

K 't Which one is dilferént from the cther
three?
(o) YW {u) MMNOF
(e} THZFE tdi DCRA
Sl Oy in () the lellers ave W scquence.
Ex. 4. Find the QDT ope cut
@ PQR () MNO
(©) TDE (3 MUV
Sed. Exceps (o), in all others, the thres

lecters are in seccence. |lencs, the
CLIns W e 18 (o),



E-111
In this type of questions, four or five
numbers are given of which thiree or four
are nlike in seme way. while one is
different. Therefore, this odd nomber is
the reguired answer,
Ex. 5 Fourcofthe followine fve arc alilic ina
certam way and wo form a eroup.
Which is one that does not belong to the

Eroup?
{2} 13 (B 26
{cy 539 fdy 51
Sal. kxeepl (d), all others are divizible by
R
Ex 6. Findthe ODI one out.
fa) 426 (b) 427
fc) 279 () 18T
Sal. Ezeept (b}, in other numbera. the

middle digit ia the ditferenee of the
athor two.

TYPEIV
In this type of guestions, rome pair of
words are given, out of which the words
in all pairs excgpts one bear certain
relationship. Therefore, candidates are
asked to decipher this relationship and
" choose the pair in which the words sre
differently rvluted. Thus, the odd one is
the answer.
Ex. 7. {w) Leg: Lume (b Tongue ; Taste
{c} BEar : Deaf (o) EfeBling
Exeepl (b), m all sdi@fgoroupe, a part of
the body is infocted witha disahility,
Hznee, the answeris (hi
ta} Mahavira - Jainism
{bi Chandragupta dawyn
{¢} Kanishlkae Kuszlan
(i} Eabar 93 ughal
Except (a3, all other groups, a
ralenliad founded his dynasty.
fence. the anzwer is (a)

CODING DECODING
In'this tvpe of quostions letter or numbers aee
llutted certan values or represent certun
other Ietter, word or number arcording to

Sal.

Eal,

specilic rules which are generully mentioned in
the questiona in the form of examples, Studonts
are required o find the code or they have 1o
decode the given coded word.

Examplel: I[f CEJG s ended az TV then [ind
the code for BDIP. -

Angwor TWilkK

Explanatiom: Here the fivet 13 lettora pffihe
alphabel are coded by 13 lestery of aipkabel in
[E WL

ABCDEFGHIJKLM (iraf 13 Lettars)
AYXWVYUTSREQP ON (Lastils latters)
It is obvious from the ab@ve thaf coding
scheme is

B=Y.U=W.T=H =T

There are various tyPeegf cogding.

ANALOGICAL L.EFTER U)DING

These codes e basedW@ the analogy given in
the gqueetion skscli,

Example® TRV ITAMTN iz codad a3 WXSROXL
then whatds theende for I NA?

Anegwer: CXLEB. This follows according to the
tuleChat MINA s made from VITAMIN. S 1ts
cole will also be made from the code of
WV1TAMIN,

CODING WITH 5PECIFIC PATTERN
Here lotter are allotted certain values but wilh
specific pattern.

For Example: If FIRE is coded for a zecrot
magzage to be BIIQI. hew ia DONE can be
ooded?

Answer: Here according to the pattorn the
preading letter is taken for coding ga E for F,
H tor Tand so on. Thevetore, the sode will be O
for Ir, I fore O, B for N oand D for K. So the oode
will bo CINRTA.

CODING DBY REVERSING OR
INTERCHANGING POSITIONS OF
LETTERS

Fzample: it YOUNG and AKASH are coded as
GNTIYY  and HSAKA then what will be the
code nf ATOICT
Anwwer: KOLA. Here Lhe code s the roverse of
the miven word,



CODING WITH NUMBERS

Here the lopter: are allotted eortain oumarieal
ralues.

For Example: ITYOUNG iz coded aa 5, ALOK
asz 1 then what will ke the code of
EIICATION?

Answer: 9, counl Lhe nuinbey of letters in Lhe
miven wonld,

OTHER FORMATS
Sime gentencos are roded helow
Alash iz going Wis lecis jonta
Anu is wosking Nin jonea pick

“Atu! weas molng Kin minta lotis
Akusband Arolare [rend  Mis kin kil zen kal
Arcording to tha above patteyn whnt is the code
{or going?
Anzwor: Lilks,
Tor these type of guastions Fou have o read the
coded words and their codes very naratully.
Caretul anabyrais nf the above format gives us
Akash = ix, Atul = Kin, Ts - juuta , going =
letis, Working = pick or nin, was = minun

FAMILY BLOOD BELATIONSHIT

There are various relatlonship betwoeen fnily
meribers, Tnthis lype of question you are asked
to Find tke right Weod oF family relatinnship
Lt pen Tw0 e rsons.

The imporlant relationships are,

The lollowing reoiativne would prove lmmensely
benaficial to you for solving anch questions:
Mathers or Father's son : Brother

Mlothers or Favhier's davghter © Slster
Mother's or Fachor's brother : Uncle
Mother's or Father's siater @ Aunt

Molher's av Falher's mother - Grandimother
Mother's or Father's father : Grapdtnilier
Bon's wife: Daughter-in-las

Husband's or wile's sister: Sistemindaw
TIughand’s orwife’s nrothuesBiother-in-law
Brather's sone Nephow

Brother's daughter: MNicee

Uncle or aunt’s eoe o dawghter: cousin
Histers mshand: Beathor dn-law

Drothor'= wify; Siziordn-Law

Crundlathegs only Sem: Father
Crrendmolher@enls son - Fathor
Garndfather’s sorr Father or unule
Gravdmigtlers son: Father or uneie
Crandiarher's only duughler-in-law: Mother
(rapdmothet’s only daughler-in-law: Mathor

Directions (& 1-5) Read the follmwing
information carefudly nnd answer Hhe
gresticns baloyy
A lamily conesls of six members LGRS, T
and T There avt: {wa marricd couples. G s an
enpincer and the father of T, U 32 lhe
gramilather of B and ‘s g contracter. 51s the
grandmother of 1 and is s himsewifi:. There is
nhe doctor, ome confracler, Che PMUTSe, LIE
Twonsswile aud two studentz in the family,
1. Who iz the hushand of 7

R (Tl L

{cy 03 (el 8

ey T
2, Who 1s the sister of T

(a} R

(b C

e T

il Tnformation insullaeps

fe) None: of theae
3, Which of “he following canbe Faprolesaion?

{n} Dortoy (h} Murse

{c} Dioctor or “SusEeEnid) |Jousew e

ie} Mono of Lhege
4. Which of the, {ollowing are iwo married

coap.ca?

kU5, A

(C =R AN

fe) I ope g these
5, . @ hich of the following 1s definitiely . gronp

ol malemombera?

(A

fiy QUT

(&} Mang ol these
Ans, ¢, the Dactnr, 15 the facher of T, 5 the
Housewife, is the grandmeother of 1 and hence
the mother of Q. Since Inere ave oMLY Lwu
marrizd vouples - one being thal of (-, the
eyandiather of R. Le. U, musl be married Lo 5.
Thus, £ nnd T will be bouk children of § and
these must he the sludents. So, P, who
remains, =hall be the wife of @ and she alone
can he tlhe nurss. Thos, U muost be vhe
crmtraeior,
1.%¢) The husband of P will br €}
2 i) Clearly . R and T are children of the saoe
parents, So R will be Lhe sister ol 1
3. () P s the curse.
4.t} The two married couples ore 0, Pand T, 5.
E. (n} Clearly, [or egrtain the males ara G, the
falhey, and U, the grandfathe-.

i 75, QF
iy US, RP

sy QUT
i) LT
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QUESTIONS]

Divections: tompiete the foflotwing serics
ehopsing fhe besi from it g Uie

alternatives Fiew beline each ynestion ?
L BEH Dl oh BN GLO. TNS, 7
ey L iy 3
frl FR) fra) BIL

2 AIZLT UGQYNR, EEXPP, OSWERN,

foe BTN fh JUUVE

i TV ey KITEW
3. RAD, MAP. HOT PLIK, »

L TINE A P

fel ST il CAT
4. ZDAY JRGY ¢LN YOBRY 7

() CYXT il XCBY

fe) VDTW ) TUVE
5. CWE, FQH. RTIT, v

frr) X087 fiy T
(o A0 id) FITT
&, -.I, "'I.. f‘r[ A r"-'].. I:'.
frar M fh)
el 11 fdl 8
S R TR & TR WP
iy R fhy WY
fe) 11 fdd X
a LV ooy R LR
ferd W L o1y
f €7 el 1
9. BV 3y OL, 7
fui I iy 4T3
o) T fd LIS
Wy proo.. i, hih npoe
(o Ly W v
{ei wxe fd) axw
11 KA [, MR NS,
fz [T thh (¥l

fie b NG
ALH LT
fics ) KT
feh MPES

{ch Tew
----- thy MO0
WD

8. OUH, I M v v
RY T
(e € iti I

14, AR Brz, 48 s

feb BT T fal ES. FiLE

»

fep DAG, B0 fed) T8, Biln
13. ab-a b-a - bba

fer) aanh it} haba

for ubba fed] baab
16 ..., he L kb ... aabhe

fo) abak o} cuab

e} aash fof) _awac
19. & oca . be .. bef . baa

frit) Tbwbs b R okiaba

fil aahh ) hbam
18, AR, E(, 18 ¢

freb BTV flrs MV

fe) KW f7) NX
18, BAR 7, DCG, RO, By, 7

fre) BT ro) ABR

tei BO® () HiR
0. oFATL PN, TIN, POT

i) Pl ) PLEF

feb [PU°T fif) POT
EL\ABA, EDT, IFL

) UGy B O

fed OO ) Ohds
23 3AZ, DOY, FEY ¢

fn) XKW My By

fod. FILY felb GHW
2. DCXW, FEVU, (GHTS. JIRG, ?

() LEPO) (L) ABYZ

frp LR fdl TMBES
24, Z XV T R

fo) OF (i MM

(I ) PN
25, C-3, B-6,0-12, 1-24, K48, 7

f) S-14 fby M98

o) LB fid) -48
26. 41, g4, j-8 m- 16, 7

@) n-19 fh} p-26

fe) q-38 i) p-18
27 NMO, RS, VIIW, BYA, 2

f) D ) BCD

() KL ¢4 BCD

a5,

fleel, elert, epic, flower, fluent, 7

frp seloet
fr) dummy

[VE.?)I L}‘;Tt}'
fd flush



L ec.u-ca-becb-vea-c-ba
fir) chaha by heabe
ey bache i1y Wune of theae

3 BYWw. DUTX. FOY, ... 7

ted HZWT th) HEZ

o) HM7A {idl Wone of thear
4L cha -ch - ceb - -

fal canc B chen

teb chae fd Mosar of these
33 -an-ch-an--bbha-oesh-

frr) checab ] oahnne

fr) ababab dofl msabea
g3, KI17. nox, OV, QET, ... 7

o) SUR i S
o SKIR fei) HAH
34, BXJ, ETL. TIPK, KLP, .Y
) NIR b NIE
{r3 MHE il NHE
a5, AXA, BDYE, CXOC?
@l DXD i [N
fet TIWHD itd) Mone of rhess

EXPLANATORY ANSWERS

L. (d); There arc iwe series BIEL DG, F1.
and BJO, CL6L TNS, The first lelter n
every proup of the sories comes aftern
gyt ol one letter, e, B. T T and the
secan and third leliers of cach group
Liave she ssme seguence, Le, BGLand
HeEL, Yame 1s che case with the scoeond
BT, _

The firet lelier in pvers group s
azeending in the oxder of ACEGT The
secomd letter 1 every group is also
aseending in the crder of PORST, the
thivd  lettor o every group  Le
tescending in lhe mdder of Y XWY,
fourth letior 1o evory group 1
azccrding in the order of LINTRT = nd
lhe laat letter In every groupgis
desconding with a gap of ane Lelles, @
THPNL.

a, @ i, 0. u are vowsls and rheg 15l
vowel/zonsonant relatioaship intawety
group of the series.

Assipn the numerifalSslng of ZBAY,
as 1.2, 58, 4 thon cainglotashe series= 1
{he sogquence of 1E3&inall Lhe groups.
Add the alphahene numerical valve of
each loti@ein'tho #roap aml then sum
vy the uoll afdiens wkich ts equal Lo
fourevomaehers, i, CWE =3 - 23 +
d=3Twhicl is equal 1034 1 =4, FH
—hB P+ =33+ 1= 4 and =0 an.
The series conizins the [irsd lecter of
the monchs of the vear in conrinuity

2. 0(ec)

3. {d}:

4, (a):

a. {ch:

6. (b):

T.i{b): Thare iz an increasing trondesn T6e
gaps of various letlars in ghe sefies,
ie, L9 304, B SollRE =W
Thoee wre owo seriez 1, G, TUOBED, G
asd W, T, BCP, b Ta The figgl has ro
zap but the zecsnd las@gip of one
letter in dozegfding order,

E s fitth feafl Wwinning of the

alphabosmEnd & Tsfith from e el

Sinilagly o Lsdenth from the beginning

sndpl) T8I0 from the ond and rhe

Simme valc iz [olow e in choother paies

ol jhe qtrmies

10, (e): Thewe'ix o rap of vae Iotter in ovary
letter of The gruap. Moreover, every

z2oend weoap b7 the serics staris after a
gup of one lelter, fa, aftey prl. we seo
YRE.

11. (b} The firse leliey of every group i# in
alphubetical ardey, e, KLMNO. Same
iz the ease with 11 and ITI etters ol ube
group. Such as PQRET and ABCDE

12, (e3: The fral letter of overy prowp 1s the
last letrar of zhe proosding graus with
w vap of fwa lotters In overy member of
Wre group, o, aluoe ADG we see G M.

18, {a}: The gap berworn leitors 13 incred g
by am arder of ¢, 3 2.5, 4 Soand &

14. (h): Letiors are in nlphabetical order with
numerical differecec order ol 2, 4. 6.8,
10, 12, 14 ete.

15. (b): The letices group ahba ie repesctod
thirze simes.

A {h}

4. {h):



16i. (2): Various groups are in the sevies of whe,
cab, bea, abe, cab, and z0 on. Morcever,
Lz first latter in the groups is the last
letizr of the preceding anes.

i {d}: There arn three groups in Lhe sories
abealy, heahr nabes,

12, (a): Take une Ietrey from each group and
gee thul thore iz 8 gap of 3 lettors
cvervwhere, Lo, A, B T M, and I, (3,
SV

1%, {d): Laxc Ietter in every groun is falline

down, Lo, SEGPO. The widdle e 15
increastog, Lo, ABCDE and rthe fisel
letrnr has twe aaiva, BB and 0.

20. {c): The middle letkers which ave vowals
have an Lucrsusing trend of A, E, T, (),
T et

21 {¢): Consonart s in hetween twa vowaels
who are slse in increusing order and
CONSONARTS are Liereysing In the order
of M. 0, F, H.

22, {d): The chird, zixth and ninth Jetters arm
T the reverse order of Lhe alphalet feg
LY, XW. T, fourth and sevemth
letrers a-e suing up with o gap efoae
leiters and TV and 8h alsg have a
gap of one lothe-,

23. {a): Starl reading fron Oty BF JGH, W),
Kl and thea QR, ST, TV, WXSZ s
s0on after sphitting TSR reups.

24, (ad): The alphabels apeanihe mverse order
with a gap of one lofter, (e, 7. XV, T\
E PN

206, (b): Thore is dgap of one letter i ull “he

alphabets and numbers are Joubling.

2. {h): Every second lotney in the sorics vumes

afler a gap of two letters and wumbers
are being squared with copsseutive
Imereasing order. Such as (12 (23
(31, (47 ote.

27. {a): Every nowt torn in the series staftswitl

a gap of soe letter along with sulliechange
m the sogquence of lottors sa@has, B0,
14 for MNQ, RS, 1= for @RE and =0 o

ZE. {d): Thrz=e are meaningfudsvoeds wehich are

arcarding Lo the oxder of the dictionary.

20, (b} The arrangement B cohal, ceab, echa,

ccab,

g {e): hvide eafh Shembér of cerlva in thes
way
B DWFOH find soon  ome gap in

ascending order,

¥ QO M and 30 on—thvee eap
in descending order

W R Y X aud so on—no gap in
ascending order

#1. Ta): The sories iz chone. chae. chae, chue.
22 (a): Tha letters are in Lo sories of ancehh,

ancehh, ascehh oo

BdyE M O Q- 5aganofone

34.(ax N E

J 5.

(c)

Direclidne:) Stedy ihe numbers and
complele (Faceriss by the suitable afternaitves
given agathebeach questions

%, 800, 13, ...
fx) 15 b 12
o) 18 i 17
20,7, 26, 65 ...
fz) 124 Al 125
fe) 93 () 103

3. 5, B 14, 21, ...

U 0! E- Aagapofd, §and 2,
a3
4 X ¥V T —TRagapol¥ latters.
H K —Nawap ot twn lottore
X T I' I. — H a gap o thrue
lrtters
N F — R zap o one ofrer,

4 L

fa) 31 thi 34

b 35 fid) 28
4. 713,17, 149, ...

) 21 (b 20

fe) 23 ) {y
5. 8, 20, 36, a6, ...

fa) H) (Bl 100

fo) 64 (i) 81
6. 4,4 7.8 11 .

fa) 13 (bt 8



ome o the Mllowing v be deenzed, o reason (o)
development?
G AL lciese L qis snployment
b Lowrsasing e pace of eoonamie progress
[ Improvensnl fo lleracy
(f Lnprovement wn health services
2. What s e chiectoee of e aothor of wriling
Lhis pussipe?
tut Appratsal ol The weorld evenls with a speeial
emphasis on develomoent oations
(L Mo proeee author's ewn prophecy
(o leodisplay the failure of podicy nakers
ey Acprudsal ol Le past with an ahjective of
aiving a comstruclive direction 1o the fulere
MDireciieas (Qs, Nos. 30 to 33}« flead the folfowiog
vgprrope very sarefiefiv and aover the quesions i heed
Sfeafleane iR,

The idea of developroens Cwhich s & sucochsive
change} was not o e s, T|_‘u:" Gireekes had pondenz:d
aver it. e groop of thinkers abso included Frasmos,
the Fullier of Chartes Daewin and Frenciman. Lemack,
Theght creation s an cobgy: wll of ws ean aleeays
pucss and soinztimes, the guess s comect, However,
presentatian of e i oF that thaught iy o diflerent
Lssie alengewher. Durw in thoughe that prool ol bis was
in his ncboak. He abservad (B all the amneals s
siueseling for sooeival, Tleose who were [avly funed
Lo lbwir envirnomants, gave their good gualilies Lo
their poslerity. This very Licl is ¢ailed ~sureieal ol
the fittest” For cxample, in a cold <limase, only il
apitnal will survive who has hol hair oo its dodw.

Pazewein opined taac this very ooed af aaama]s 1o dedl
witl their respeciive anvitoments capizing e
eristence ol wtnsrous types of aaimals.
3 Whe Darwin sarrrved oot coene, the thoughl
of developmiend
ool s ol Reard of
P Tad Been proved witheol wny dooiy
i b been haught aver bl sews o peoved
L
tofy wits ol Lhough fo b weortby o reseurnch
M. Arcording L the vigion of Dansin, the anim:d
wnild has been mached by
fred peacefu!l cocxisivrics
141 sliupg e tor survival
12 apilby for cne anctr
Lt lewe gl [riandship
32 The expression "suevival alphs Tlesl Aheans
1t .
(i Lhe poweerfal shall livisund the wesk shatl
die
sy che poweer ol el | aaghe weak shull Live
seagafully
fer the peerfolishadd e the waak n the
provess of suirvivud
N ol theposaful wod Ll weak shall live

"'.-
3y Infcoldiclieul:
D) @l e mianals can hve
(1 e ol the animals can sureive
i, only thuse anoals cun Sucvive who have
asr
e amimals ure foaod with dilfcuiily

Dircctions (Qs. Nos. 34 10 363 © St hegdoliouin wbic very cavefilie and s the guesfions it

Jolfow i1

The MNuanber af =uodidales sypearin antl prsaing in compolili»¢ examination fooos vacious alces inthe

LIVEN YEUE.

Rural Seanin-urto?l Cripeteal e Siene Meropeiis
Yeer  Appeared Fipsseet Appecred Parsed  ppeared Poaved  Appreared  Passed
l9o0 1652 0K 7,504 2,513 5,054 | 364 3% 3.214
LY bLBGS 317 B.5A2 2,833 T.164 AR ES [(h154 EAU
Lt AR 932 5,130 2.6k LS. ilse G695 3035
a2 5,432 L7933 n.£32 2,3%% BE2G 3625 L1 24¥ 5158
19494 4 B (W51 - 40 s 4311 17.51% 5,328
1985 3.024 1392 9,904 L0643 [.725 4.526 3602 0,415




wfur'n

v IR AL 2ty AT A BT IR e T T
purcesilige of the candidutes ncluded from seoi-
urban arcus the lowest one'?

150 (hy 1993

1950 () 1992

1]

(e

. From 1[990 o 1992, what was the nearest

percentage ul reduction in the number of semi—
seban candidules whe spposred in the

examinalion (19 the neaest vidie) Y

(@) 5 ey 10
{c} 15 tfy 8
@ 12

Directions (s, Nos. 37-38) = Smdv the fillowing
graph very carefilly and nnsieer the guestions rhai
Sirble Sr

.

100 [ -
:'E:u: LY I z
5 60 ST
oAl === o e e o e
2 40l 2o e .
i
o O .
{] + + & L +—
180 4092 1993 1904 1895 1936 1997
Yea s
Company A---—- Company &

I1 thee tlai income of company Bin (992 was
We 140 crone, ey what was ils expenditure it
tsag, yearf '
{1 Rs |D0orore
(o= 8 crowe
{£) Mo of these
1 he Lotal combined expendifiresdfcompany
13 weas Bz 270 crome in [093mnd 1954, then wliar
was 1% bolal ineome in these 280 yoars

e Hsl215crore {5)\Ba |35cTure

(] W= 140 crors {efy Nseleieni £ata

el Noneof bkse

i# Wi 110 crore
) Lnsufficicnt wlamg

Diccctions (. Now, 30400 : These guesn’rﬁur are

I,

40.

dl.

dd.

P2
v st &8
=
2 3
Lo mzny women graduules are selt-emploved?

e 12 b1 13
LY o} 15

How muny non-zraduate women are Gaif-
smpluyed?

w) 1l By W

e 12 ey 21

AR EQ, 15,0 QA UE

(@ LV () MW

ey NA [ I3

I — means ‘add', «méans "ubract T means

divide”, b means fultiply” and A means
‘eyuals' theng@fitclians of the followiag chice
is cormoat?

tay 2 aded > 26

i) 2 dedt 24

(@ 3¥AT I HAD

(), 7@ 116414

DI A menos nnt equal 107 { =), B moeans “greaes

than' (=), L means “nol less then' (47, [ means
iz equal 107 =), E nacans “is noc greater than™
tF1and F means ™ is less taun™ (<), then acconding
1o the miven hasic statement [4x F5y) and {3yE
Fs]. which ane of $he folewing conclusicns i@
gorrcel?

(o} 4% B3s () 35T 35

(o A 3s ) a4 C3s

Five students pauricipated in uw cxaduativon for
sening seholarship. Sudia got mere marks than
Ponja, Kavita golbess nuu ks Jian Suma kutmore
marks tham Sudla., Mamta got nuarks In belween
the: mnarks of Puojuand Sudbe. Who gol the Teast



and 5 — 1. Besidea overy next group
stavt by ¥ less than ils previous one.

21. (a): Lagic iz 6% 2+ 2= 14, 1d% 2+ 1 =32,
w9+ H-TE TAxE+ 16 = 160

29 {(d): There are twa servies 60, 120, 240 and
a0, 1%, 74, cte. The torms In tha fivst
series are doubling and in the 1Ind they
urebeaing halved.

#3. (0): Second torm is the puwer 4 of the first |

term and fourth torm is also power 4 of
the thitd one, Sn 4% 42 4 x 4 =250
94, {d): Every nexl terms iz a cube of the
preceding term + 4, L,
¥ +2=1+2=3
(A4 2=27+32 =20
(17 = 64 — 2 =66 and
(5 + ¥ =125 — 2 = 127 and =0 on.
'25. {d}: Fhere are three groups in Lie sories 8
— 54,60 - 120 and 2336 — 336 and ratiod
are1:4. | - 2and 1 L
26, (d¥; [11xc term is = Lst term > 4, 12, x4
TEl
T%th term & = 1lnd lerin = 5, Le, B =
h=2a
Vih term s = IIlrd term X 6, Le, 2850
=144
Vith term 12 = [Vth term ® 7, Lo, 25 X
T=170
Multiplicrs are in Lhiedinercasing drdes
of 4, f, 8, 7, ot
27, (e): Divideall lerms by 26 ard gow i 1] e,
guntiend in the order of 1,64, 3016, sl
e, the difference Qhotween
“guotisnts are incrédbinias . 3. T, A
28, (d); The difforencei@tseen seventh and
sixtln is 44, beteefn gixth and fifth ia
45, hetween fith and fourlh iz M,
between 0¥ th and THrd is 24, betwesn
IrdMend econd i= 1§, It means the
differancéave in the nerensing arder
of 198, B4, 30, 36 and so on awd the
firal term will be 112 =7,
ag, (di: =12 =20, 92 - 32 - 40, 162 . 72 =
50, and so oo Jv means difforences are

25,

doubling s 20, 40, S0, 180, 320 et
I otheorwize means ke reguired
numberwill be 162+ 160 - 328 and 12
+ 320 = G2

10, (d): There ave fwo series 3, 6, 12 anc 14, 3l
foandthe logicms 25 2= 6, 6= d=12,
16 = 2= 30, 30 x 2 — G0

31, (a}: Bach mexl number is half of the

preceding ane,
32, () There arc teo series, 78, Th T2 and 65,
az, Bl

23. {¢): Everv sucond numbes is the reverse ol
vha firet. ez, 41 7 L4, 37 - d38ual G
=17

34, (d): 4 % 3 =12 9x 2= 14 aficd 3% =21

5. (h): There ave two zeteisgd 18, 2% 56, and
a5, 98, 21, 14,

36, (b} First is ihe sguargyof the secorul L
pvery palr such ay (= 81, (81 =64
and 112)% 144,

37, {a): Firsy s thedalflef the seeond ML eT
1 evnry pall

38. (b Thediffarence is being daubled at every
Al b e e B, 10, 20, 400 B ek

3% (ohh + 3=, 11 b9 — 20 ete

40, () by, 3, 1222, 3%, 18 2% 3

47 %) Surn of unit and tens is equal te S m all
numbers excopt in 38 which is 3 + 8=
1

43, (a): (112 =121, (15)¥=169. (1T - 289 snd
(15 = 381 but 51 iz the square of 9
whick: Lz not a prime number.

4. (d):5-8=2 64223 1=1%4
2hut T 3 ia nov equal to 2

44, (¥ Calculate the mean ol unit are tens,

L=

fe, B+ 2)+2 =0,
B+4)+2-4
(1+49 273
(3+Ti=2="h

hut {3+ 1+ 220

| 48, (d): (21 =8, (3727, (1) = 1351 and LAY

=130 bug {37! = 51, Thus 3 dazs oo
have a power 4.



Directions: Two objects, esemts or
roncepts are refated in some ey, vou houe fo
patehlish the same =elntionshin with the néher
b olijerts, cuents of corcopts e the Bosis of
e eliernoatives #ivem Delow ench qoestion?

L Light : Sun : : Heat : 7

fat Blectricity 8 Mlixen
fe) Dire fed) Star
2 Parvot: Cape  Man - ?
) Homs (& Motor Car
fci DPrison fd} Foresl
. FHaease ; [Tealth @ : Freedow ;- 7
gt Blavery ) TPledasur:
{oi Plight (id) Theauty
4, Orean : Pand @ Deep - 7
fu) River By Canal
i) Shallow I}t Pilthy
8. Butier : Milk ;- (5] -7
far Cow if1) Deads
fud Curd (d) Grains
8. Crime : Punishment : : Deed @ ?
fr) Floasure fh} Hatred
ey Sin {df) Trize
7. Soldier : Gun @ Blacksmith ; 7
fied Wood () Eword
fe) Tran ff} Haminar
B. Monday : April : : Friday @ *
f) iy fb) Saturday
feh Angust fif) Tucsday
8, Diseaar @ Pathology ¢ Planet §%
fie} Sun (AN
fo)  Astrology (£ dstronomy
10. Frsitz - Apple Sy Monument, - ?
fay Tw'mahal ikl Studerts

fe)  Hnoywlodge fef) Colloge
11, Dactor \hadicine ; : Tracher o 0
fa) Clasas {h) Srrdents
it} Knoodledor: , () Grapes
12 Moty Bilic : Peirol : : Buges : ?
ieh Keromene 01l (3) Deiscl
(@O Electrivity fd) Coal
W.oAngry - Night 1 - 7 : Thay
fer) Ilelpful (h) Pleascd
fed Crued fe} Lowine

| Type ICI

14,

13

16.

17,

18,

14,

20,

21

3.

2.

28

27,

Handsome - Boactiful » Highand 7

fo) Wornen b} Wife
fed i3irl ey =he
Waikting : Doredon -« Bduratwon ;0 ?
e Clase il Fnlightrmmen
fc) Schooling (e) Curning
AHC YK . - CBa - *
) ZXY (f) BCA
) YA felp Y
ADE - TGl o Ko o v
(o) [T (R PR
e} ST friy \BRS
UTS : FDC ;o Wyl ?
i) YWY vy WEY
fo) LV ey HGT
NUMBERSTNEBMWELE - - CHOST 7
fap HOGROT i TROGH
feb Q] 15 itds SOVICIH
EGIE o FILOY - : WHJIL : ¢
g HILE ihy T
fe) TTGEHIN i) rAII0
L R P IR
fced 1i4 (& 175
o L2 () 1
12 :33::16:7
() 63 fh) 82
fel 28 ful) RS
170019 47"
feb b (k) alk
fol 41 fald A
A2 0BG 1140 7
fre) 152 fhi 138
i) 1R ‘2] 140
TR NV R T
) 10 (hy 13
fel 17 (b 14
(th &% 126 - 126 7
fer) 187 il 3R
fid Gh i) 81

N B N A s
i 27 it 29
fc} 50 (d) 625
R B T
fa) 16 by 36

fi) &5 il 2N



Z8.

25,

30,

rel

Ko 4 (X9 XE 4+
i (X + 23 b)) (X—2)
e (XE— 3 i) MNune of these

ERE LG G

) 18KY b pExE
fe) 43S (el B4¥E
1160617

() 25 b 195
fe) BB jd, 825

Direetions: T ebjoots or crents o
tecd i some oy, Yo ave Lo pick oul anly

that eption wiich Aos the saome 1ybe af

Felo
31,

32

33

:]"1:

33

56.

aT

finzhip s stated in cach gueation?
Mackines and Pullies
i) Hrate and Fruits
i Car and Whee!s
fer Lresd and Buller
{efy Tran and Doors
Chemistry and Scienoes
fu) Paintine and Arcts
i) Bedicine and Buargery
fes Groography and History
feft Liawe and Cullure
Carpeater and Wood
el Goldamith and Cold
th] Dlacksmith and Tron
¢z Enginser and Machines
fef Al of thase
Cliasms and Veacher
¢l College and Principal
) Booksand lsbrarian
frl Workshop sné Foremae
i} Al of shese
Writer and Toet
{tg oews and Sonos
B Prose and Poecry
fop Dooks and Lessons
fci) Letrers and Words
I louge and Rent
fa} Lakourand Woges
thy Copitaland [ntersst
fo) Trasung Fairs
i) vl nfilhesg
Treaandliyrest
feeh, can and Ships
fhy Bepks and Letters
fpl ) Books and Library

d5.

39,

40.

41.

42,

43,

44.

45,

() Boys and Teachor

Failurc nnd «1owth

(@ Day and Night

i Suecoss and Hird work

fe) Matah and Victory

fe1) None ol these

Car and Garage

i) Tlorse anc Stablc

&) Tucn and Den

/o] (ows and Fareh

) Al ef theso

Hands and Fingers

fa) Headand 1aiv b Tees and Tees
fo) Skinand Calour(d Both (@) st (3]
Regisnation and Cifice

fop Competition and Vicloeg

() Ahdicalion and Thicwn

fe) Kidnapping and THslodging
] (B and (e

Enpervisor and Wovker

fap Teacher afdSuperintendent
fr) Offirer andLlexl

fr) Debier:and Crediler

{) nfericr apd Superior
NLalasi Apnd Blosguite

fo; hclora and Waley

fhil Typhaid and Typhns

fc) Piherculosis and TH Bacters
) All of thrse

Cold and Hat

fap Tray and Hour

b January amd June

{c] January and Fehrnary

(l} None of Lhe above

Pulp and Paper

oy Yarn and Fabric

B lron snd Wood

(e} Waod and Purmlove

fefy ey and (¢}

Dircetions: Twe terms ame reloted D

seme Wav, Youw hane (o esfablish the same type
of relutionship between the Iied and ViR
terms, ehoosing the besi allernotiver given
belowy

46,

Ohey « Dofy - - Werk o2
fa) Rest (h) Lile



47.

A1,

b2

64,

i Challenge i) [die

Sickness ; Iealth ;: Hapiness @ ?
tee) Corrfor M Mizery
fo} SBonow et} Beauiy
Soft . Spanee - - Sharp ; ?

frr) Krafe (hi Cat

fr) Guick itf) Hard

Fatrance : Bxist ; ; Lovalty - ?
fiz} Dshonesty &} Halred
{t) Treachervy fel) Trail

Ankle : Knee :; Wizt : 7

) Hand G Elbrar
fei Finger feft Thumb
Metre - 7 @ Litre : Volueme

i) Weight i) Lenth
fr) Sguare fif) Avea
Chenithologiac : Bird 1 Anihropologist -

(e Insects b} Mammals
fct Bankmd (d) Mone of these
7 Boe:: Frng - Snake

fu) Humming (M Honey

fc} Poizon )} Sting

54. 7 Light : : Dusk ; Dawn
for} Electrieity f0) Dlorminge
f) Da}r t(dj HE‘,EW_V
63. Houvse : Window « - hian : 7
o) Hearing bt Eyes
{v} Karth fdl Flogr
58, 7 Coal : : Abony - Soct
fa) Bluslh B Rust
fc} Ash (o Dwst
§7. 7 : Daiay : : Panay : Roce
‘o) Hed (o) ¥ el 18
(¢} Wkhite i) Wielot
88 Y Yellow : : Ovange : Groen
fa} Plant fBY IMrra violet
) Purple fef) Forest
89, Sword SLuvig o Fista] @ 7
ferd Baow fd Bullst
fe} Haftle ) War
&80, Bkirmish : War : : Dizesge : ¢
fa) Infection &) Doctor
foe Bladicine fef) Epidemic
6L, \Postor is related wo wvall and photography

1s recated ko

(@) Camers fh) Framc

EEI‘

63,

a4

B,

G

67

B&.

1N

w0,

7l

72

Ta.

frd Poople ‘lh Prauiy
Heart : Bivod : : Lung - ?

fd Warer Gy Th

fep (revren il Mone of thess
Fuce © Vxpreszion : : Hand - 7

fia) L eesture ) Waving

o) iolonting
85420513007
fa) B3

fuop 0

Bevolution - Change
fo) Trealy - Prace ) Hagpeedab
) Work - lTealth &) (None of these
Ked - Colour

fai Shivi . Garmentibp Rose® Smclt
{r} Heoy - Schongl gcf) Mene of these
RBird - Wing . {igh @

(o) Mone ol these

fhi 6%
] Nome pffhece

) Fin i) (3l
fr) Whale () Tail
Hilloak: Muurnsin - - Bagh : 7
{2 (uogle ihl Pla=r
i) "Gl id) Tree

Erincipgle’: Rule : : Principal ; 7

(Lzin St dent h Behool

fe) Chiel {ell Mone of these
Bloon - Silver ;o " Gald.

fir] Hun %) Earth

fr) Planct fel) Star

Larlurs - water have the same relaticnzhip
with

f) Liorn - Farezt (b)) Garmz- Carlage
fe) Book - Shelf () All of theae
Picher - water have the same relationship
with

{r} Candie- ligkt

b)) Hiove - pooking

i) Bock - latterz

) Thermometsr - meroery

Fiaver : Toam @ Ship : ?

{a) Harbeuar fh) Scaparl

vl Flesl, it2) NMone of thoge
. Man : Child & - Flower - 7

frd Bud by Bt

(et Branch fel} Frant

. BElection ; Yotes @ Soloetion @ 7

fh) o Appliealion
(@) Mone of thass

in) Interview
fed Discnssion



IXPLANATORY ANSWERS|

L. {c): Sun gives light, In the same way e

rives heat.

Payeol iz kept into Cage. Bimilarly

Van is kepl inta Prisor after wial.

¥ sexse ia the antonym of Health and

the antonyn of Freedom will he

Blavery.

Thean is the nuality of Oceun and thao

quality of Pond will be Shallow.

ot ter ie nhrained from 3ilk and Oil is

nhtained from Soeds,

Tnmishmen| is the result of Orime, In

the same wiy Prive is the wesult of

1ord s,

Soldier nses Gue sid Dlacksmilh uses

Hammer.

Fridayva comes three days afuer Blomdiay

an three munth aftey April will be

Avgust.

Viseases axre studicd ie Pathelogy and

planets are studicd in Astrouomay.

10. (2 Apple s o Pruit and Tajmahal 1= 8
Finnumeni.

L1. (3 Doctors  prescribe Medicing: and
Teachers impart knowlodge.

12. {b}: Morer bikes uses Petrol and Duses uses

‘Deizal for moving.

13, {b): Fivst lerms is the npposite of thelhlrd
torm as iz the cage with Tnd and 1¥th
terms.

14, (hY: Handsome i related e Hushbandand
Beaulilul iz related th Wife.

15 (h): Waieiny  leads g to Toredbm  and
Fducation leads 1o Eolightenment,

16. {e): Hers A hugfaenused in place of 2. B
for ¥ and Ciof X dverywhere,

17, {a}: The Lust termin® o gap of twao loeters
hevwesn A and D, the second term
starsjush aftor B, i, gap ol two lettors
ie {hercBelween G and J. The {hivd
arfe fouvth torms alzo come inoa
bontmous series nder the same rule,

15. 415 verm s related to TILeet torm when
read in roverse order ns STU - TVW.

2. {e)k:

3. {ak

4. (o)
5. {h:

6. (d):

T.{d)e

-3 [N

q_{d):

Qayro 15 the case with [Ind and T¥h
torms az C1F - FOGIL

19. (a); Every pair ot lettors in theterns ame o
reverse order as U UN, Mb = Tihd
cand FR = KR

20, (ay: Theroisagap of otz letter cvaryw here
 the fivst terme und gap of two lesters
in e second terms. The sumne 1s case
il 10T rd and [Vth terme.

21, (h): [Tnd term s half of the Iol form.doin
arder Lo get Lhe TVeh term disjde ke
1Ted rerm by 2. Thits 1Veh werm ighe I
of ~he ITled one.

29, (ak 6 x 2= 12, (2 - 1 7 30 R ZH 16,
pE_ 1 - 30

24, (a): Sccond term is sl pricie by
after 17. o thg nexigprime nuimbher
after 47 78 &L

24 (a): First tapm = 6° - T3 = 42
Sperndierms TR T =46
Vhird pefr £10° + 10 =110
Frurh towem= 1121 11 =132

a5, {o): Tag comiy = i i=4-1=3
Tladtdrm = 32+ 1=0+1-11
gt erm =3t -1=9-1-%
Wik term =424 1 - 16+ 1 =17

26, (i) {b¥: Lind and Tilrd terms are equal. S
Tui and J¥th torms should alss bre

equal.

26. (£1) (d): The secomd s the square of She
[irst.

27 {ck 21 =4
=10

19 = 84

ot =20

g8, (d): XE— 4= (X -2 (K 1 2 but R4 4 pan
oot he factorized.

20, () (KFE 0 (EEE fexad (43X o means
the gegand trem is the dohle of the
firse torw cxcluding power. Sumilacly
frupeh Lerm is twiee af the third term
prcluding power.

30. {b}: The second Lerm i the cube of the [irst
term snd fourth tore 1s the cube o the
thira termn.



L A UER dLE L0 TNACINDes 11 order
when they are fitted, In the same way
wheels make the car in ovder whon
they are attached with.

§2. {a): Chemistry is a bravneh of Science and
Painting iz a branch of Arts,

33. {d): Functions of various profeszionals
huave been piven here.

34 {dr: Al wre various professionals using
their places of work,

35, (b): Prose is writben by writers and Poetry
s compoeed by poets.

6. (d): Rent is iaken on house. In the same
way interest is paid on capital, fair je
paid on using train elc.

37. {c): Forestz have trecs and libraries have
booles.

28. {(b): Slowth cavses failuve and Hardworl
leads to success.

89, {d): Car is heptin Garage. In the same way
Lioulivesinden. Cowain perch, Horse
in atahble, cte.

4. (d}: Handa have fingers, fect have toes and
heads have hairs.

41. {d): In resipnation the offics is to ke quit. In
the eame way when abdication is doe
thrown is Lo hc left, Moreover
tidnapping cauges dislodeing.

42 (h): Supervisor supervises workers add so
is the case of officer and clerk

43. (d): Diseasrs and their origin_aro given
here.

44, {b):Cold is related to JanuBryvland Hat i
related to June,

46. (d):Pulp 18 used ag a rawomaterial for
making papers Wood and varn are
veed as rawlmateriala for furnituee
and fabrigrespectively.

46, (a): Obey is the Sppasite of Dty and work
is theteppogite of Rest.

47. (c): The tevm®are related as an toryma of
duchmiher.

48. {a): Softnessis the charncteristic of spongs
Al sharpness is the charaeteristic of
knife,

4. {c): Terms are opposite to pach other.

50 (b):As ankle 1a the lower part ol knee gc i
the wriat with elbow,

o1, (b):Tengih is the umit of metre. In the
game way 1he unit of Likre 1= volwne.

52. {e): Ornitholopisl studies «boat bird and
anthropolngist studies aliout mankind
{=n1d culturc),

53. {d): Snakes use lang and Pees use sHng
when atlack.

584, {d}: Terma are opposite to cach athops

55. (b} As windows are 1o see outside Bom e
house w0 is the case with rEay und
man.

66. (c}: Thea= are the forme of carbon.

67. (a): Thesc are the types of flowers

88, (c): Those ure difforefifeclours,

88. (a): One primitive Weagm de paired wilh a
mtodern woagen

G0. {d): Skirmishés leadeto war and digegses
may lead teenidemie,

61. (b); Pusfer d8 pasted un the wall and
pholmraph s framed.

G2, {c)"Heart pumpa blood while lunps pumps
ox¥gen to different parts of the hody.

Ga. (s}

G4.4a): First iz the doulle — 1 of the second
number. Same pattern is there in 11Ird
and [Vth numbers.

B85, {4): Revelwion canses Change and Treaty
causes Prace,

66. (a): Red is a colour and shirt jsa garment.

67, (u): Bird uses wings to Iy while {Ish uges
Finz to swim in the water.

£8. (a):

89, (v

T0. (a): The light of the moom is of silver ealour
whilc that of sun ia of golden colour,

71, (a): One grows on the other,

T2. (d): First conliring the socond ne a material
ohject,

18 {c): Group of Plavers iz rullad leam and
group of Shipz is culled {leer.

T4. (a): Child grows tnty man and bud LW
into flowera,

Th. (a)




guestion.
1 1 1] 15
25 A
|46 | = | A0
i Be
il 63
2007 |90 | 10
lla] = |[144
0| 177 | 1493
feed 13T
fo) 129
20110 | 150
Tl 11| An
» | -0
fet 20
o 40
4, [T ] T | e
01 | 522 | o
w | 376|418
fa) 35E
fer] 364
5| o= | GI] TK
GD | DF I W1
(R | W3 | GI
fir) 40
ot [
6. | 18 | 35 | 20
AN - 15
Syl 015 | 35

Bivection: Following guostions cre baved
an modeix, Fued the value of x or ¥ in ench
mairiy from the cholces glven Below each

(b
()

b}
(i)

(i)
{d)

()
fct)

(&)
fd)

and
&l

L1
T

an
T

3a3
354

o
G

Type II

1.

11.

12

fer) 20

fo) 15

AZ || GT
BY | BV | HS
L IR

fz} BV

fc; FR

352 | g4l 327
382 | 372 =
432 | 502 | 387

feb 337

{c} 857

10| 730 | Tah
B | x| 740
x| GED | A

) 710 and 860
fe)  THdmnd @80

i g J o4
W o= | 110
171 11 | 187
fa 9
fo) 12
12 | 36 | 144
16 | &0 [ 300
18 | = 1540
fa) 8¢
fod 90
R
® M1 H
Jan) Ba | 4
fir) 150

{o) 330

)
)

(%)
fcd)

()
(ct)

{b;
(s

fh)
e

{h)
{ct)

(B
()

FG
Fi]

276
387

TO0 and HH
BE0 gl TO0

1n
17

T
114

210
None of these



13,

14.

16.

17.

18,

13,

1 1 9
4 4 G
A I T 1
fui ¥
fe] B
a 1 | 26
K14 ® *
1d4 | 256 | A0
fa) G4, 100
(o) 210,110
i 3 2
15 | 241 35
4k * bl
fiat £
fel 66
Al FHE ]
IRT] % | REL
[ RO | A
fed (4}
ey G
AH | M. | MN
P MBSO
AP | X | YO
) Al
fr ML
A T 1
T p Y
" T [
A |
fizl [
3] 8 9
14 2 g
3 ! T
fa) 13
fel 17

(&)
fifd

ft)
)

A

af}

i)
fud)

fb)
(gt

(h)

11

B, 1414
None of these

£5d
b}

ff) ¥

(b)
()

-] —t
—_

20,

21

[
23

24.

2h.

Insart the mmssing figure in

T | 2da ) &0
T W L0
3 ki &
(2 12 bl 16
() 24 ) T
bl 23 ?
T Sk Lo
3 24 by
fi2) 8 ith; 9
fel i el ne of Lhes
o o 7 b3
s 2 [ 7w
L L1 ) 'I-Sr
ferif 1 fhl A
fed 1 frld Mone of Lhese
ih | 1 7
7 ? 7
13 &0 | 70
@ 11 7
o) # ) G
2] 7 | 1h
2 L.
1 4% ] ?
(o) ol (b} M
fe) 200 AR
2 4 18 266
4 g &1 B ]
4 18 204 | Gaodh
a il 325 ?
(o) 30600 fh SOGRS
foy 1285 fed)

Mene of these



EXPLANATORY ANSWERS

1. (b Number [vom 4 to 80 are increasing
with an cqual inlerval of 7,
T4 1l =8, 00+ 12 =108, 102 ' 13
=115, 116+ L1 =128
120+ 15 =144, 144 + 18 = [#) arud =0
an,
Add + 4 and sulwrace 40 in columns,
fen 11 40 =160, 110 — A0 = 7, 70
+ 48 = 170, Ty — Al = 3 and s0 on.
Morcovey aubtracy 40 from each vow
whish e egual tio the next row.
U ocolumt = 1 eolumn + 21,
111 column = 1 enlumn 1 A2,
Requived auwmber
— 418 — 49 - 478 - 21 = 3550,
: There 12 a gap of one leirers i
colermns, L,
T-1=G,G-1=Eand K
=G
95 =15+ 20in each column and row,
Fivai lattor 1n ¥oses ame in ineroasing
grder and itz pair is in decreasing
urdey wertically.
—10 and thep =15 in rows.
+20, +20, in colwrna and =20, =30 in
rows respectively, fe, T — 20 = Tal
= 30 = T80, T10 - 20 =650
10, (B Third column First x Secofid
calurm.
11. (e 12 3 =36% 4 =144
{Muliipliers are in increasing orlanol
a.4.5 and 4. 5. 6)
16 % 4 =@ = 5= 300
8w R =Yl x b =S4
12, (b): First row = 3362 =8 -8 =16
Third yow = HME =6-2=4

2. {ch

3. ib):

4, {d}:

I=1L1-1
G, fa):
7o)

B. (e
O, {a)k

1. Puointing cul “wa girl & man sail "My
uncleds thauncele of this girl's nnele”. Flow
jlthe man ralated with that giel ?

{a ) Brotler fhl Farher
feigPather in law  {d]l Cousin

13

1. (ay: [ vow

15

18

17

18

23

24

25

Sernnd row =5 + ¥ =4 x 30 =210

S 1 rowe T {10 f232, ()t
1 vooee = (202, (202, 00
I rowe - ()7, {437, By

Ox4=736%4=11

Hrow=16% 4 = 64 ¥ £ = 256
T b= 20 % 4 = 200 « 4 = 00

b 1 pow =78 1= o1=358-1
=&
Hpow = 45— 1= 15,54 -1 = 24, 6% (1
=135

IMTroer = 78— 1 = 48 and so o

 {a): Cre letter has a pap of 2 lep@Re L e,
"I L ... and the serond lellerhas a
ran ol thyee lotlers, LemvA. . anid
vy Of1.

. (a): Distancs eohom nwiseds 7,41, 15,3 A
T,oand L, 2, .

. (h): Teonw-wise ddstaner sgiares icrese by
a7,

. (a): Sum ttal of caelfrow and colurmnn = 24,

L (a)r 15 (3 = 285, T ¢ {22 = TO
A =2

(ale T BEd6 3B =24, 4 ¥ B =32

La)r Add dhe first two nwmbers row-wise
and rhen dedoet Lhe third number and
voul will et fourtk number f.a (9 + 3]
—Ll=12 (R+5- 1= lWand 12+ 11}
—a=1%8

Ad) 15 ¥ 2= (7 - 2) = 1500
0% 2 % (6 - 2) =80
Txaw (7 -8 =50

-

AbRE 20 x 2% 2 =80, TXAX =18 15 ¥ 10
» 2= 10

. (B):Nawmbers ate being squared fram left to
right.

2. Rav: said o Seeta, “Yoeur mother is the
daughter of my grandmother”. llow ave
Raviand Seeta relate:] 7
(2l Uncle - Nicee
ihp Tather - Daughtar



a.

F‘l

=1

1Mk

fir] Crnasin fify Moo ofthase
Mg the mother of B and O T O is the »ife
ol I, lhen establich the relationship
belwean A and T1?

for) Becher (L] Aotherin-law
) Grand mother  (if) Nono of those
Imtroducing a lady Alimad said, "iler
mother is tae voly daugliter of my mother
inlaw” How ks Ahmad relaced with char
lzds?

it} Brother fhy Tnele

fei Husband fel) Tather

15 1= lhe hralher of X, cho sister of N is
KL, the brother of PisJand the daughter
ol & 15 P then whe is the uneie of J?

) 5 iB) M

e P (i) W

Eavi wnaid s tady, “The =on of voue only
brother s the brother of my wifa™ Hew iz
the lady related with Bavi 7

i) Mogher

b Histor

ic) Patermal molher-in-law

(i) Aunt

¥ 1s Lhe brather of A, Cis the daughter of
A, ithe sigter of T2 K and the brotheclol
C iz J. Then who iz che unele of J 7

fi} F by A

] K i) O
Adsthesonof U, Cand G aresislers, B ix
the mother of € 1A s théSathonal P then
which ol the following@fitionsds correct ¥
fa) I is the matornal ggdnd mother of A
&) P iz <he Matornalfuncle of A

e} P & A arc@ousins

d} Al of the abave

"Yeur falhegiathie maternal unele of iy
fatlierfosid Ruvi to Becta. How arc they
related?

fir) Crlising

fialy Mephew and Aunl

fr) Becl brother 2nd sigter

i MNane of the above

Algthe father of B, Ols the brolher of A T
1a the sister of B M 1z the fathor o A, thent
gatablish relationship between Fand O%

11,

13,

14,

16.

f; Dmughter and Falher

by Husband and Wi's

{7} DBrolher and Sister

fid) Mieee and TTnele

A and B are young ones of 0T 3= the
father of A bul B is not the zan of 0. How
are Boand C rolaced '

fir) Dauushtor and Father

(b Mieee and Unele

fob Mewphoa aad Unele

fef]l Mone of Lhowe

A woman going with & ey W askéd b

annthey woman abosulthe relafionship
hetween them . The woman replied, "My
maternal urele and che®@ncle ot his
tmaternal uneld™=3hhe same Fow 1w She
lady reluted withfthat boy ?

fra) A L@l Nephase

b Moiher aod Son

fe} dzpandzonand Orandmother

¢l Mg of these

W s Lhe mnther of B oand O 10 B 2 he
hustriafl of C, What A 1z w 0.

fddh darhor {by Sister

(v Mother-in-law &) Acrt

A man sald o a lady, "The son of your
oy brethor s vhe brother of my wife”
Now iz the lady relatad with the man.
fol Moihey

bl Sister

fo) Mothorn-law

fid) Sister of father-in-law

. A Is the brother of T and K. 17 98 the

moather of B and B = the father of A,
Which of Lite followirg statcroent iz not
definitely trus?

) T3 1s the hrother of K

fh) A s the father of K

i) Adgtac sonof D

fd] Adsthe s al T

ADBCDT and b are members al a club.
Thern are two merried couples in tho
gonp. A5 the brother o TFs Flushand, ©
15 Lhe president. of Women's Associaticn, F
isa Bilur Flayer, and Bachelor, B's wille is
it a mertber of the Cluk. Four of 1hem



17,

I8,

149.

20,

belong o thoe zame family. B ard I ere
collemgues in the elub. Tlow s I7 reladed fo
554

fa) Hnshand

i) Witc

je:) Falher

feft IL L3 non podeibio tn doterming

Om the asis of the infarmatinn mvoen in
Guestion Noo 18 if Bz mother wae A's
mether's caughler how was A related ta B
n

1) Father (bl Sistey

i) Brotheor el BMatarnal Unele
Leela. who 12 Bohan's daugnier savs ™o
Laliva, “¥our mothor Alka isihe youneger
gizLerelmy fativar, who is the ued child
af Taja”, Bsteblish Lhe relationship
hotween Rajo and Talita”

fa) Fathor

L) Unele

fet Malernal geand Eather

fr} Noneol hess

(The informabicn giver in G Noo 18
E=tablish the ralationship betwesn Leela
angd Lalika®

fa) Sigter {B) Cmraine

o) Biglerin law () Moerenf these
Sz members of i famidy ARCHOE and F
are traveling tagethoer. T s the son of 42
but [}is ool the mothor of T A and Ceare
murried couple. Eis che beather of C. TH
the daaghter of A F is the brogheral B
How many male members arg thep? in the
family ?

e 1 fhy 2

ML

21.

22

23,

24,

26.

1

i) & feli 4

Thr information siven n @ Moo 20,
claxifine that

fal A iz the mother of B, Band T}

bt F. B and I are chree children of O
fe) E iz che ungle of TF

feft All af these

On the basiz nf the glven dala in @, No. 20
extablish that whn iz the wile ol B 7

fery I

%) B

fe) Cannot ba detormined

) A

A lold B that U is has fucher's neph ewn, [

1z &g eovsin but nnt the bother ot @
What rolationshdn is fhere botwesn Wand
[

i} Father i) st g

(e} dother fef) SarEt

F s the bentha®f, O igthe daughter of
A, K 12 the sigherdf gl i3 the brathor of
O, Whan izl uneledaf GF

@ F Bt K
ie) Az () None of these
Painiihg ta Sudha Ranjan said “TTer

mother's only daughtor iz my mother”.
Howa@lanjan related to Sudha 7

fah, Son (6 Nuphew

(i} Brothor i) Moncol thess
["ix the brothar of A, C 15 the daughivral
A, K isthe sister of B and G is the brother
of {0 then whe is the unele of GY

fa) B by ™

fe) C (i Mavcol Lhese

EXPLANATORY ANSWERS

1. {h): The man'zUnele and the nuele of girls

unce idthe same person. 5o he may be
the falhey alamcle of the girl

¥ ey Grapdmwcher— Grandmother-mother

— Bta’s marker-Daughicy

Ravi - S1e]

3. €b1E ¢ che dawghtor of A but (s also Lhe

wile of T 50 4 15 the mother-in-law o TL

4. ()} Ahmad’s molbor-in-lavw has the only

danghter so hey daughter must be the
wife af Ahnead and the lady s cthe
dunphtor of Almad,

5 ¢dy AsJand ' are veal hrothers ana ther

father is & wlhose brother iz N, a0 I s
the uoele of J and T,

&, {e): Lady's brocher Biss o son and that lady



is the paternal aunt of that son. The
son b nsislor whe s the wife of Ravi
Bu lady 15 the patemal mother inlaw of
Ravi.

7. (&) C oand T are children of & and F iz the
brother of A a0 Fis the unele of (Tand 1.
8. (a): B = Mother. 1t mean B haz twe
daughters C and Q@ and A is son of C
K
——
C Q
A
P
8. {b):  Tfaternal Tncle
Fa:her? Sister
Ravi
KM — Father

I
100 (d): (Brother) S — 4 — Fallwer
I
(Sigtert F — B
[Ter= M iz the father of A and A 1= the
father of B,

11. {a}: (} has two childven A and B, if A igfhig
son, B must be his daughter acodwding
to the question,

1.3, (b} The matornal unels of Lhe womanmand
the uncle of the materndl unge of the
boy 18 the aame persén add®hoy’s
maternal uneke will ke the Beother of
tha woman.

13, (ek A is the motherafdD and O i= the wife
af D ao A 1z the mrather-in-law o' D), or
10 iz the son-in-law of A,

14. {d): Loy s bl hee
Somy- brather» wife - man
Biom 1 theybrother-in-law of man, and
hiz father will be the father-in-lnw of
tnarand lady ia the sister of hiafather
inelaw,

15.¢b): A, B and K are beolthervs and sisters, B
and D may be husband and wife, so A
19 the son of E and I} both.

16. {d): Aceording to the data there are fwo
female members D and C of the club

and data 1= not sufficiont regarding B
and F

17.{dx A and hiz wmother’s daughtor are
brother and aister. So the son of A's
sigter will be his matornal nephew,

Mlether

A'___,f""“-\"'-x

Davghler
|
B
13, {.f}: Raja
Ak Sohun
| |
Lalita Lzela
AlladistheSarer of Sohan and their
fathor is@Hajz. S0 Baga iz the
guandfataer of Leeln and mazernal
grandifather of Lalita.
180 (b):
2000d): EXBrothery C tHushanDy A (Wils)

F and B {Sona) 1 { Davghter
In the question A ix the wife of O and
their daugkres s D The rsmasimng
members are male members.

21_4{d):

22. {c): £ has no wife which is defiitels clear
frorm the dats.

23, (bp:A has two cousins © and D, Sowee O 1:
male so D mast be female (according to
the data) and balh are Lhe nepheaw and
Mmoo of At fathor.

24. {a): K {fister) I iz the brother A

G (hrother) Daughter (C}
26. (ak Mither "'—_‘—"j
Sudha Thaughter
[Lzjan's mother
26. (a): K F A
|
& c




=1

. In a cortain eode language, ClIL, WAP,

Tvpe [IIB

In a military code CAUTION i= coded us |
DACITNG. How will you werite RITELIN-
NEUETAND? 16,
@) SIMLUNEDSETAND
b SINCYUEDSIRA TN
f©) EMIUNDERSTART
fd}l None ol Lhe above
CALANTDER s coded Inacode as CLARNA | 1L
ED R, Find the code L CIRCULAT ander
the asane rale. -
i) LATANDER b)) CRIUCALR

fry CLANADER  fd) None of these 12

DIT means rod little box, SUT, MAD BIX,
iceans will arranged pile, BIX, FAC, DIR
means pile of boves. The code forof here | 15
=Y

fab HAD f&) BUIT
et IMR fd) BIX

IFSTUDYTNG iswrilten as FUTERIMH, | 14,
How will QTHER ke written ¥

) TOHEE i) ROATE

fo) NIIGES {d) Mope of these
In o code sipn DRLAL is coded as | 15
Gan14514. Play with CAMEL in the same

way 7
{m} 0315714 i) ASTEA510
) Bi1G6E13 fifi MNone of these 16.

Tn 1 eode langoage 256 means 'Fou are
good’, 37 means ‘we ure bad’, 358 picdns
‘znod and bad’, Find the code for Bngd’.

() 2 {h) B 17.
ic) 8 () 3

If = neans A, ¥ means ppt medns — and

—meana = Fing the valuamf 161+ 3 -
a4 14,
() 19 10

fe) 9 f2lp None of these

In a cnde langlage 35796 18 written as
AARRT. g, e ool for 46535 14,
(xl B5914 fb) 57191

{c) SR i) ST

H%GL Nis cnded as HVO. find the code for
PEI.

fd QIO th) CDP

ey RET fef) =0T

If TOUR is writton a= 1234, CLEAH i=
written az 50784 and SPART iz winllen as
0547, find the code e CARE

) 1247 o) 4B47

fo] G247 fely BT
METAI'HER iz coded ae EMATIIPRE.
How will you cods XNORMAT.

fa) ORMLAN fh) ORNMLA

e} ONBIRLA ff) Noneafthees
[fTLICIIT 12 coded Az CILTH, Find the cods
for LATNTY,

) TATYYN {h} ARINTY

o) NATRY ) BIIWY
KNOWLEDGE is coded (82 2085375475,
How can GEMERAT, he eoded

fx) 7HAOEGS () TH0913

{e} TEEEAL () TAHa 13

In acertain code Tednpoaze BSAT is coded
as GIDNV, What iz chefcode for SO
) XSXR fir EBSKE

fe)  XERED ol WEYR

[F.TOM - @and DICE = 27, Find the
walue of CATTLE °

{EIoR (b 61
fe; 9 fe) 6

TFROY o codod as ACNDEL. Whal will be
the code for LITE?

fi) EREJEGIE b LRGHEGDE

fe) EMHEIGEFIY ] Nooe of these

I SKEW meana POCY whal do you mean
Ly JY LIV

(@) BMSIT (h) MUTS

foh ST i) TICOX

IFLONDON & coded an MPOREDC, What
eode is noeded Lo DELIT ?

(1) DEHLI ) EFIMT

¢} HLDBEI (el FFMLI

1 4I8TER = coded as 3358301, UNCLE =
coded g5 24870 and BOY 13 coded ao 128,
Tind the code word for 80N 7

(@) 524 (b} 993

fey 872 (g 381



20,

21,

22,

23.

24.

26.

1f HARD mears 1357 aad S0PT meuans
2468, what does 21448 stand, for

i) SCHOOL (&) SHOOT

fe) SHOOP fef) Mone of these
Eooaceeriain lunpuaps 10 A Is wrttben as 2,
Basdand Cas 6 what de che ligure 12,
140, 10, & stands for?

ey DERR ‘b DOOE,

o} 1WHER fel) FEED

Fill in the blank with suitable fiowrea,

5 1w v

. # 20 P

F — — ]
) 30, 38 B K, 4
fo) 3%, 00 (f) 40, 32

IFDUST §s callad ATR, ATR 45 called FIRE,

FIRE iscalled WATER. WATER 1 culled

COLOUR, COLOUR is ealled RAIN and

EATHN 1= called DUS U then wheva do fish

Tisrn?

{m COLOUR fh) DITAET

0] WATEER fri) TIRE

Ina certain code languuge

1. Chip, Bin, Chunk means studefts
attemd ¢lass

2, Ixn Sunk Dink means Arnr 1=
studcit

3. Jump Mink Sink measns Sehaoeslse: o
erwxl

4. Dink Mup Chimpemeans Teacher is
teacking

The code which ds wged fop Arsin is 7

o) Surk ik Din

fod Dink fi! Chunk

In a certainende hangnage

134 meansgond and Lasty

478 means see good picturs

T2Hmeang piolure are faint -

Which number has heen uzcd here for
fairm!

fai» o

(hy 2

(e} data are inadequate

w7

Cerlainmelalsaregivenin Column Aand

theirpropertiesinColumn B, Butcheyare

3]
=1

2%

ol

E1

32.

34,

54,

nrt arganized in the same order of Lhe
melals Findlhe property of Metal A onhe
basis of columus,

Column A Column B

S0TUND akn

ADDRESS LILLY

CREITX ikmnm

WET 1kt

CROWHN oLy

CROWDY Blocupr

b L} [

ey v fel} omeat those
. Find the properny ofmetal C.

fod : Bk

el - fef) MNone of theso

Find the neopértgnl reial T

{2l k ® 1

fe) m (i) Nove of Lhese

Find the property of motal W

fz) b ]

i) k iy Nome of theee
Finet the property of mietal T

f) n B b

fet & i) Neneof chose

[o o code language COME s codsd as
RLNY, Find the code for OAT 7

{o) XZG (&) ChIWY

o] YL ) KWE0

Ir o cerlain code FAN— 31 and PAR = 33.
What code do vou suepest for CAR?

faz) 2t by 23

fop 24 [edp 05

Ifam/is called & cirele, cirele b cailed &
polnl, d peinl is ealled A aad A iserlled a
square what will be the shape ol a whee]?
fad A fhl O

fc] point itl] T3

I ANOTITER i2 coded o= 7309521, then
THOEM will be codod as:

fo) 5103 (IR E

{r) 9R015 fel) 95115

If HIM means 996 anel CAM means 39
what will be tha code for RIATP 7

fa) U8 () 114

fz] 40 (i 206



1. {b}:

2 (b

3. (ak

1. {¢):

b, (a}:

3. )

EXPLANATORY ANSWERS

CAUTION =HMIS UNDE ES.TA NI
UAC IT NO =500 WO ETYy SR AT DN
It menns in the firet group chres lellors
are roversed chen each pair is being
rivorsed.

CALAN MM E=CIRCULAR
CITANAFND R=CRITIC AT Tv
Here first and last letters are not
digposi-tioned but ather pairs are being
riEversed.

LCUR wap [ RIS w11
red LiLl]e boxes

Bix TAC DI )
pile o brxes

Ho THR = hoxes

5] Y Far TR )
piles of bonzes

ST LIAD Ex .. )|
wl arrehge pile

S0 BLX =7pile

Thus of = FAC .
STUDYI NG =QTIIE R

EUTE XJMH = NUCOF (3

In Lhe first patr 5is coded a5 B meaning
Lhesrchy o lotter before 8. nexe letter T
15 coded as U, means a lelier aftor T,
L, BETLL TUDIC ete. are turning zes
LS,

Add two in the serial number of letters
ds z

OD=4th+2=8 C=+9=5
R=18h+2= 20 A=1+232=4
l.=12th + 2 =14 DBI= 18wy = 15
A=Ist+2=3% E=0-2=7%
L=12th+2=14 FM.=712 + 2 = 11
You are good = 236 1D

We are bad = 627 LA

Am=6

We urmbaid = /37 cad 2l

{roiad and bad = 358 Wk}

Lad - 4
Fuduare zuod = 256
enpd and bad = 358
good = 5o and = 8

7. (e)

B. {ak

9. [a);

100{d):

11. {ck

12 (a)k

12, (d):

WWixa—h -2+
In such typn off questions apmpiy the pule
of BOAIAS

B = Bracket o=

D = Dhiwision M = Multipiv
A= Addng 5 = Suhtracnion
I6+3 5232w

[6+3_F =l xd

M—i0="4a

341 =4 ol vhe code
not=4d ol the cale
T+1=48o08he cols
-1 =4of the ool
G4 1=7of the welé
as 4 0 7T HO.6
+1 g0+ [
4 16 8)» 5 OH
S0 4 d0dh R 3
i -1 *w-] +1
L8 1 4
Toreny leffer in the code iz ova otrey
akeadiguch az

G U=v XN=0 Thul=g
E=F ®N=0

B i= i gvory group of leiter and 4 is in
cvory proup of aumbers so Bo=11
CLEAR=58751 )
STPARE=90&847 .. fiil

Flere B47 aro cnminon

o CL = 56 and =2F - 2

Thur CARBTE =847

Afake pairs amd then reverse cack: patr,
Fofe,

METATHER NO RM AL

ERM AT IIF LE O ME LA

There are two zroups 1IG and TEE ~ach
belng reversad

LIG HT HAL WY

(il TH JIAR, T

Add unit and tons st rumericat vaiee of
letters such as



i) (i)
K=li=1+1=2 8o
M=1=114=5§ G=7
(J=13=1+6=6 KE=35
Wodd=2+3=h N=,
L=12=1+2=3 E=xza
L=5%_-53+0=0 HR=I8=1+8=19
D:.-l:.:j_l-ﬂ:d_. A=1
G=7=7+0=7% L=sli=1+2=3]
E=hith=5+0

14. {a): Codad [etiers are ahead fram their
original iettars in the order of 4, 3, 2,
and 1, i.a,

R E AT Difforenre 8 GUF
4 3 21 1 3 21
GI1 DV XS5XER
15. (h): TCR DICK
M1+ 15=48 44+D0+3+11=27
CATTLE

d+ 1+ +20+12+ 581

16. (a): B=AC Tt meansoriginal letters cun
be inserted in
O =NI' hetween the two coded
el lers
Y=X{ SGoL=EKM1=HF=Ej
and E =DF

17.(d): 8 K E W Thedifferenced ¥ Q W
-2 W A+ 1 gintheseriee -2 L@ -1%1

rocCcy 4,3, 11 Heox
18.id) LONDON DELEKEI

+111111 ~ami 3,11

MPOEPOQ LRI
1.{a): 51 S8STER UNWCLE

Badbh g B4 6710

BOY SON

12 4% hod

4
0. (blie, 2 ~ 5% H 4= Quapd 5~ T
21, {d): 12 g B
T I E D
22, (e Thediffercoce belween 5 and L ia
Bw = 1% 4+ |§ = 2R
Theth [lerence betwoen L and I is
w2 =104+ 28 =138
The difforence belween ¥V and Pis
BEx =10+ 10 = 4
atd Lhe Mifferenee betwesn P and J ie
alao 5 % 2 = 10 4+ 20 = 20

23, (ak Colour stands oy WATER so the FIRH
iives in COLOUR.

24, {a): On the basis of let and Tnd equations
“students" - DIN
O the Bz of nd aeed TWLL egquaations
Hg" = DINK
Bo Putting these Lwo ‘mlueb Lk
equation Ind we gl the code o Avun
as SUNE.

25, {c): 4 = good T =Pielure and 2 aind D= ure
and faint respectn BiY.

28, (b): By comparing the two wlumns wel e
cnde for WET = ubi, code fod CETUX 15
gmv, code for SOUND 4= ihmop,
CRONY iz ylatuy CROWDY iz digocy
ADDRESS (= &iloopp. By furchor
eomparing we@et code for K=h, N =1

T=p L= E=%U~mX ¢ 3"
P.O=0D=20 Y=t Woguni A=
14

27, (aj:

28, (d):

29, (a3

o). (a):

3l (a):

v ¥ I
| ! i
ABCDEFGHIJELMKOBESTUVWE Y {
It means C =X ar third from left and 111
fraom right and O = L or 15th [rom leli
and 1ath from vight, M = N or lidzh
From left and 13th from rght, E=Y or
Vth from lell and Vih from righl.
32.(b16+1+14=3Tand 16+ 1 + 18 =35
o3+ 1+ 13 =22
33. (¢): Whee! means circle which is equal 1o
pint.
34, (b): The lecters are eodad by numhbers and
to itnd the anawer select the respective
numbers, e,

ANODTHER —  letters
T3I0NG521 -  ode
S, THORN - lettors
950143 — eorde

. (dpHIM =4~ 49= 13 = 444

CARMT = d = 1= 13 =4y
then MAP = I8 % 1 = [ = 208



Directions : Cerfoin words//lerms are glien
belo in ench guesiion, Afl crz similor a
natire except ane which is different, Pick out
the odd nne,

1.

E%

10.

13.

12

Nlange, guava, grapes, potato, pineapple
fal Guava (fy Pineapple

fr} Potato fel) Orapos

Cocde and Hen, Horse and Mare, Peacack
and Pealicn, Dog and Bich, Cow and Gont
fz) Clow and goat

b Hovee ond Mare

fr) Peacock aud Peahen

fuf) Coolr 2nd Hen

Lion and Den, Cow and Porch, Pig and
Fen, Hen and Farm, Horse and Stable
f) LionandDen (B Cow and Porch
fzi Pigand Pen () Hen and Farm
B4, 36, %, 49, 145, 81

fa} Bl (B 125

() 9 i) 36

14, 42, 49, 44, 63, 77

fzj 44 (k) 44

() 83 i 7
JIHGFONMLEUTSRY,
IWVUTLCDEFRG

fa) COEEC b ONMIK
() JLEICT () UTSRG

Teacher, Principal, Siudent, Reader,
Pyofesaor

fa) Student
ey Principal

{b) Professor
i) Header

Crow, Pigeon, Sparrow. Bird, Kide

) Piveun B} Kite

{c) Croer fety Bid

Whale, Crocodile, Tiper, Fish, Tortéiae
@b Tige: it) Whale

fet Toxtoisc i Hish

Sparrow, Engle, Crow, Ostrich, Kite
fz} Dstrich bl agle

fr) Kite fal Sparrow
Bowl, Pldte, Bucxet, Cup, Pan
iz Dawl rh) Burket
{r) Cup f) Pan

limdon, Washingron, Reyadh, New Delhi,
Alla habad

{e), Waghington i) Rewadh

13

14

15,

16.

17.

15.

1%

21,

22

23.

24,

i) MNew Leihi () Aliahahad
Red, Blae, Purple, Bose, Drenge,

fir) Biun ity O g
(o) Tdesse ity Thond
Eve, Bar, Noge. Finge,, Tongue,
fa) Kwe ) Mo

frd Torwue fa) IMieer
Milk. Curd, Wine, {_hezsc. Butter
fa) Milk fh] Wie

fe) Buttor {ed) Chowd

Ivon, Bedium, darowry, Pulazasam, Gigdd
f) lron {hr Monoury

ol Sodium ey Cold

Rifie, Pistal, (hannon. Mizs o, Sword

{z) Pistod, i Cafion

fel Biiseile fif Hvenmd

Tazard, Snnke, Frx, Toftuir, Chatneiecn
fz} Chemelesn I T'ax

fet Tortolae i Spadie

Sun, Jupiter, Meen, Horizon Cload
fa) Olorad (hF Horkeo

fe) Sun feld Moon
TFebruary, Aprdl, Dascember,  July,
Jdanuary

fuf” April By July

fe) 4Alzmmuady ] Wabruary
Helllnal, Bull, Horee, Lion, Cow

frr) Full i) Coree

fep Horse ) Liom
Festive., CheecTul, dovizl, Tively, Voo
i) Won fh} [Pastive

fed rovlal (ef) MNorne of these

Maugazine, Journul, Moval, Dictiomary,
Artiele.

i} Aoutiele (Bl Mavel

fist  [Metiomary fd) Jourkal
Waaver, Tailor, Carpenter,  Clerk,
Placlesmith

i) Yeavor
fe) Clerk

fh) Tador
o) Cappemeler

. Circle, Cone, Area, Triangle, Cyhinder

bl Crouc
fil) Avea

far Cirgle
fi} Cylinder

. Btems. Rools, Fruite, Plonts, Lead

fat Pliolz
ft) Lioal

b)) Noots
fd) Stems



27

9.

20,

3L

a2,

33

Air and Ouzpen, Mathemalies and
(isomatry, Flower and Petal, Teacher and
Siuderrs, Bonkas & Sentenes3

[ Teacher and Snwlantg

Ly Thools and Sontences

fe] Dleswer avid Petal

(el Alrand Cheyren

Lion and Jtoar, Klephant and Trumpet,
Snulke and Hiss. Dogs and Cook, Birds
and Chivp

rizp Birels and Chivp ) Dogs and Crok
rz) Snale and Hiss id) Lion and Roar
Shirt and Tailor, Tes and Collee, 'en and
Peneil. Bword sl Arwour, Beoks and
Salionarics

fer) Shire and Tatlor

&) Penand encil

fry Beooks aed Stationarics

(ot Sword snd Armouy

Bleek and White, In and Out, Pros and
Cans, Figh ard Waler, Day and Night
fie) Prosapd Cone  F) Fish and Waler
fo) loand Out icf) Day and Night
il snd Tamg, Water and Tee, Wood and
Table. Silk and Pant, Flour and Bread
fab O3l and Lamp ) Water and Lee
fr) Wood and Table {d) Sill and fand
Beautilul and Handeorme, Bolherdand
Worry, Cold and Chilly, Aveid and
Funish, Hobby and Becreafien

ez} Avoid and | Munish

{b} Ilobby and Beereflinn

{ri Begutific und [Mandgome

(1) Bother und Worry

Bull and Lishe. Sun anf Heal, Clock and
Time, Rivertasd, Fond, Chimney and
Smaoke

(o} Clumiacy iod Smolo

by Sun%sad Heat

eIl ok and time

febl Hiver and Pond

Wmdusicy and Waorkera, Hospttal and
Favietls, Murket and Buyers, Disense and
Malara, Mass and Students

fu) Thzease and Malaris

fb) Claszs and Sudents

36,

a6,

ar.

4.

39,

41.

43,

44,

{rj Industry and Workers

{ef] Hospetal end Patiente

Crime and Punishment, Hserrige and
Heulth, Judgement  and  Advocsoy,
Hardwork anrd
Suceess, Slowth and Failure

{r} Blowth ond faihns

{h} Hardwork and Sueccess

fe} Judgement and Advocacy

fd) Y¥mereise and Health

College end  Prineipa_ Navy  and
Commander, Industevfand [HEéctor,
PlaFground and player(FPost affice and
Fostmazter

frd College and Poifwipal

(D) Navy and Comaiaader

o) Flaygronnd sud Blaver

fef) None @f <he ahnve

Dnele sl MWiece, Father and Danphier,
Brothe-and =ister, Tathoer-in-law aznd Son-
-l

e} T and Niece

B ather and Davghler

] Brollwr and Sister

i) Falherin-bow and Son-in-law

RGS, DAC, NMO, KLM, YXZ
i) RQS, 0y KLM
(e} YXZ 21p NMO
EFGH, WYZA, YZAT, PQRS, MNOTD
f) WYZA th) EFGH
fe) MINOD (d) YEAB
CEAR, TEAR, FTAR, WEAR, BEAR
() CEAR (b} TEAR
(mi FEAR () DEAR
AO G LG

(o} A ¢h) U

{r) i) O
BOC, MIN, TOV, WAY, POQ
(o) BN b TOV
(o) WAY () POQ
9, 28, 65, 126, 129

(@) 129 th 10

(e} 126 ()
+766, 2354, 6372, SA6R, 4673
(z} SH65 fb} 1756
(e} Ba72 fell 4673



44,

48,

41.

Atk

al.

LES

i {ck

. 24, 36, 48, 049,12

(mb 12 () 36

fcy 3y fedl 24

1, 2L, 155, 141, 144

feg) 141 ;16D

(e) 144 {dy 625
CRL 33, B8 a1, 12

fa) 411 RS

fe) 131 fif) 212

506G, A8, A0, 483, 760

o AR {1 330

ey 16 fel) DO

2343, & 29031

L) 25 b 43

(e} 29 (I 8

READING, WRITING., BREATHING,
JURFPLNG, SWIKNING

f) BREATHING By JUMPING

(v} WRITING fef) READING
Mava, Sk, Jupiter. Moon, Bun

[ Sun fh) Wliars

f) Moon i1l By

. Yakara, Arabia, Thart, Goli, Sundarban

fir) Sundarban )y Arabia
fo) Thar fefy Mune of these
Alpha, Beta, Mota, Thela, Gatama

frz) Alpha b ek

fe) Gamina (i Mela

Greela. GQrrran, Bile, Tauvat, Punchsheel
it} DPanchehesl iR Quran

fod (oot id) Mone of these

. Tavester, Tioancior. Landlord,
Ertrepremare, Praducer

fir) Producer fb} Financier

fr) Laudlord fify Mone of theae
Horse, Cow, Dog, Deer, Rabbit. Goat

f) Coat fB) D

it Hakbit fd) Mone of those

. Frances, Purkey, Greek, ltaly, Finland

r] ]
L] }

o
=1

fat Thalard bt Praveoe

fe) Italy fetr larkey
58, Havhour, Island, Peminsulsf Congt, Dasis

tiy Harbour B s

fu) lsland i@ Munsefthase
50, Premchanc, Kalidaz, 4B Shaw,

Hhakespearc, Marlwe

ta) Premchand bt B Shaw

frd Kabdas oy None of those
60. Mangapese, Hubher, Balt, Srone, Pelrol,

Cuold

izl Rubbcr 1 Cald

fe) Sail fedi [Petrnl

EXPLANATORY ANSWERS

Potato 1= a vegetable pned Lhe resls are
Eruiks.

2, (a0 Exeepl Lhis all the rests are paid Le,
vue masculine and ene famigaee.

3. {ely Lion lives in dens. Samells the case
wilh other animale exgépt Hen which
Lives in boxes not at farmes,

4, (hy: All are aquarcs cxcept 12%mprhich 13 a
cube of A

5 (ayr 44 is the only 4lpig which = not
divisible by wevel,

6. (a) A%l erc im reverse alphabetical ordur
excopibhiseption.

7. (a); Tucephstidenl a1l are teaching pro-
lesalanals.

5. (dys, Bagring this option all the rests are

Tanies o rds,

9, {a): It is the only amimal thal lives on lend.

B0, (}: [L is the only bird that can not fly while
oiher can [y, '

11. b} All are utensils except ~hiz.

12. (d): All are the capitals of various eountries
except Allahabad which iz a city of
India.

13, ix); Ruse is a flower and all the vests are
colsnirs,

14, (¢): Barring Tongue all wee vhe external
organs of the body,

15. (b): Excepl wine a1l belong to the milk
LHLEEINT,

16. {I): [t s e only metul which s found in
liguid form.

17. (d¥: Except Sword ail ars fire arma.

18, (b} "nx is a hunting animal and tho rests
arn roptiles.



19, (a): Excepl vloud all the terms are used in
ARFHIAMY.

20, {d): V'chruary has vwo possibilities of 28 and
20 days. )

21. {b}It i: the mly female animal in the
Eroup,

22. {a): Excopt this all are che aigns of pleasure
and happiness,

23, (e} Dictionury is the enllection of werds in
alphahatical mede,

24, (et I 12 the only professional tnvolved in
white rntlar pohs.

2b. (d): Exeemt Lhis il are geametrical ligures
whife area ia g unie.

Z6. (a): Al ave the parts and parer] of plants.

27, {a): Teacher and Sluedents. In every paifd
the second word eviginates from the
first word.

28. {b):Here animals and theirvoice of erying
are paired and Jdoes bark rot cook.

29, (a): Except this optinw all pairs are used as
phruses.

36. (h): Exeept thiz terms used in all the prirs

 areoppozite of each other.

31.{a): Oil and lamps are two different things
while in olher cases the second wofid is
the changed form of the fivat wawd, .20
ice 1o made of water, table 18 madenf
wood and soon.

32, (a): Bxcept this all the pairs are synen$ims
of each other.

33, 4d); Second word is the cawse of the first

word bt this pimibdsfior felated in Lhis

WAV,

84. (8): The second Word in every pair relates to
Lthe firsthwordy Lo workors po to the
industryy) pawdente oo Lhe hoepital,
buvers ge to the market ard sc on.

35, (c): Second word is 1he result of the first
wordbnt Tudgsment is not the reslt of
advocacy,

88, {ak [nstilulions and their heads are poired
Jrere.

g7afc): Brother and sister are of the samo

rank.
6. rh) Il 1 the only group that i= in
alphabetical ovder and Lhe rests start

trom middlz then lret and then laec,

39. (a): All the vests ave in alphabetical sorics.

4. (a}: I iz the only aption that does ool have
AN IMeENing.

41, (c): @ is the only conzonant in the group.

42, {c): All the groups are surroimded by cou®
zoninls in giphabetical order exesm
this. i is & mearingful word alec.

43, (ay: All the reats are cuhes + 1, e, (99 +
1=8, @7 1 1=28, (17 +1 = {5 anl
B 01,

14, (a): Reasoning N, 1—8ds the valy digix
which 1z repeatod inthis gréup and no
repetition of o digit Sapthicre in aoy
other rroup. :

Reasoning We. -2 Al the four diei's in
Bvery sLaupadrs i increasing order in
diflerént wayvs:

48. {c}: Lne iatwrea of the teng in every wroup
Bt her=39ls three times,

46, {p)oAl) thegbests arc sgquares of cerlain
nam bers excepl L,

21.¢a;: In all the other aumbnrs first and
third digits are the same.

48, (@} No zero 15 uzed in 4843

49, (d): Except 8 a1l are prime nunmbers.

o, {a): T isihe only automatic natural zelzon
pedurmed by living organisms.

51, (d): All tho nthers are heavenly bodies,

52, (a): Bundarban is a della while thie clhers
are desertzs,

58. {d): All the rests are Greek symebols used
especialty in ma s lies.

04, {a): All the rests are roligious books except
Panchsheel.

85, (@) Li is commenly uzed {n farm business
while Lhe others are related Lo finunce
and business.

a6, {k}All tha sthers are vogetariang,

57 (d):It iz the only Asian ecountry in the
PO,

68, (h): All the o*hers are near sea while Oaals
s seen in the doserte,

BB, (a): Premchand was a novelist wiwile Lhe
others are dramatists,

60, {a): lvis the only matcrial thar s oblaioed
from trees.



ﬁl

ﬁl

Type IVA

Eavi has an annnal inceme of Re, 2500
He spends 101% on education. 20% of Lhe
remaining income ig spent en housing,
The remainivg 15% is depoaited in saving
sehemes and che resl inceme 13 spend on
[ood. and eloths, ITow much percentage of
ineotne does he spend on food and clnth ?
() 5% ) 61.2%

fer BlE4 (d) GE%

A car goes 35 km in 1 hour, next 270 km
iy 3 hrs. and next 80 km in 2% hrs, Find
the average speed of the car ?

iz} B9, 28 kmh, (B 615 kmh

fry 80 km'h {d} Nonenfthe above
Mohan is younger than his father by
Yl yrs. B years ago hisfather was 5 times
than him. Find the age of his Lather at

present ”
fir) 30 vrs L} 25 yrs
el Ah yrs (i) Noncofthe abeve

A {yain runs for 2 hres at the speed of
95 lrndh. 1 vune for 3% hrs at che speed
of &0 kmih and then runs for 2% hrs, at
the speed of 70 kiwh. Tind the average
spoed of Lhe train ?

fat 50 km'h th) 55 km'h

(e} 20 kb (d) 56.87 kmh.
Toffees are distrvibuted amang 4, B. C, D
and E in suck & way that A gots one o8
than B, C gots & more thun 13 and Hdets
3 more than B. Il B and D'z share A
squal who got. the maximum nurber of
friloes ¥

el A fe) H

fer I fid) 0

Tfthe number of twoaisits arc reversed i
hecomes 18 preator than tHe nurmber.
Find the numbér if $he sim of the digits
iz cqual to 47

fw) 31 i 13

fo) 22 (d) 40

Raja fhig o)k abir, “If you give me s, 2.1
chall hadotfile to yon and you will become
tripplece Atsha. Hrw much money dves
Aisha have?
freiNbe 0
fe) Hs=. 2

i Rs &
fd) Hs. 3

&.

10

11.

12

13

14.

A number which when divided by 4, 8, 14
leaves a remainder 3. [f that number Is
divisible by 7 find the zumber ?

() AG b} T

fe) 147 ey w3

Mohan purchased a bike fur Ra800
meluding . sdles tax of 0%, TMnd the
selling price uf the bike

(o) Res. 66656 {b) Bs. 600

fe) Re 1000 (i) Rs. 900

My father distributed Rs. 280 in stichig
way that cach girl receiver R3320 and
cach boy Rs. 10, If the numbedol boys s
less than that of girlz bwgd find the
aumber of boys 7

(@ % () 15
() 10 i T

A student was asked @ add 16 and
subtract 10 from awmiimber. He by
mistoke sulfacied 16 and added 10 and
found the apdwor 14, What is the might
ISR

() 20 (b} 26

ey W {el} 92

A Bt denl attempled 108 guesticns in an
fzamifiation. In this examinalion every
wrdny ancwer was giveh 13 minue mark
and right answer wus given | mark, [fthe
studenl scorsd wzero marks how many
wTong guestions were dene by bun 7

fa} B fh) 81

e w4 {el} Wone of these
If the arca of a given gquars ABCD i 2
find the wtal area of the entire figare?

A__ B |
r.-[Cn
| |
(o) 48~ i 45
fe) 18. fdy 31

A spider climis 10 metres of 4 pole 1n 20
minutes and sHps down 2 metres at the



15.

18,

17.

18

19,

20.

21

very mament. [Ftd bakes 3 hras to elimb on

ita lop find the lengih of the pole *

fra} 71 metros B} T2 metres

frd A0 malyes () 90 metres

A class started pk 700 poo. and laeted )]

3.52 par. In this duration 41 regular

perinds are held and 4 minutes sere glso

given Lo go frotu one class tu another 1o

attend the cinss. What is the exaern

duration of euch paviad ?

fird A1 m B 13

o} GE m (el 40 m

If 15 spnies and 20 nreanes rost se much

a3 20 apples and 15 aranges which of the

following conclusions is correet ?

b Orange and apple have identieal
Prices

(h} Uranes’s price is double that of applo

fob Nocomelusion san be drawn

() Apple is cheaper than orange

Anil sold 2 commadity in Ra. 450 at the

loss of 10%. At what price did he purchase

it,
ra) B= 495 fB) Ry, 500
fet Ha, A0GR fd) Mo of these

A wagon haes the capaeity of 12 adulis ar
20 children. How many adults can e
hoarded with 15 childeen ?

fa) A adullz ib) B adults

o) €adults () MNono of theso
If the following sertes of namberd is
written in the reverse order whish
number will be vhe seventh fo'the Fighs of
the frurth numher FromeRel e

L& 349 7 4, 10,8 2011614, 5, 14, 16
@l 2 f8) 8

) 13 fcd) 2

In a row of children Povgesn is 7th form
the left, Tiablog fafourth from the r ght.
When eaghgof them rxchanges their
pasitivns Ferveanwill be [5th from the
lefi. Tipehilie total number of children

falals girls ) 20 girls
e 21 il () 19 girls
Bupply the miszing Oeuve in the matrix?
4 81
9 1 3] 3]
b i) 7

22.

23

24,

26,

27,

2B

fal 29 ) 13
fod 18 (e} 2y

Find the valwe of ¥ in the following
[igrure.

&

5 }f”lﬁ

L5 sy

fab 25 fh) 38

fo] 44 fid) 42

A garden has as many fluwer beading fThees

Astrd bearing trecs. 304 Leses ave old and

A oart prafted. Which ofgfhe follewing

interferences are defindolg true?

f) Al flower banring treeslaregrs flad

(b} Only fruit besriar frees are praftod

fe) At least one Hall afthe fhwnr beating
trees are nid

fo) Al of Lleae

On a six poll scafe it 4 studeni got mrade

B in Eaghishgeaflc O i Matis, grade B

in Sdenee grade Cin Sucisl Seience snd

cfde Bin PT. Find cut his over sl grade.

o A (B G

i) G ftfl B

- Im@group of students 800 of them passed

ir all five subjects. 200 Tailed in all the
suhjects, 100 in English only and 150 in
deirnce orly. Find the percontace of
results of the achool,

fad 87.1% IR

for 0% el Monaof Lhiesn

1o o clazs, Ravi’s rank s 150h from Lthe
low and 2150 from che hottorm, Fow m E
studenis are Lhere in the class *

) 31 bt

fol 35 frd) None of these
The vaiiv of boya and girls in a school is
1: 8. 1f there ave 480 boys i Lhe schonl,
find the number of irls 2

fa) 360 (f) 320

{e} 515 1 Mone of Lhese

A car needs 12 litre of petral to cover a
distance of 153 kms. How much peonol is
neaded to cover a distunce of 204 kms,
) 158 litre bt 18 litre

fel 18 e ff) 17 lidre
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30,

31

a2,

33,

35,

36,

f2_TTe emploved 60 men loy Lhia, Adter 32
davs Tie fouml tnat 23 of the work has
been completed. IIow many worlkers
chould be rodeced W linish che worls just

‘n line ¥

frap d0 fhl 24

(e} 25 (e} 56

Whal percentage of 12050 =051 7

) 20% (b 20%

irp SRR fp Mane of these
Anumbey iz 05 much greater than 17 as
it iz lows Lean 67, Find the number.

(@ 6 b a7

i) 4 {f) 4

Yahan's salary i3 25% above Rajs, Then
how much percentage Raju's salary is Ioss
thar Moharn.

) 0% (h) 95

fo) 31 (1/6%) i) MNone ol Lhose

A roduction of 20% in the priee nf pples
enables a uwnr poogelone doxen more forr
R A0 Find the redused price per dowen of.

apphes?
i) Re. & i) D 13
fr) Ths, 10 () Moneof these

A dealer seld a mixer far Bs 340 lassing
1454, At what price should he have sold -0
eavn a 10% profit

fG) Hs. a6l (&) Ra Gat

frl T GO0 fi] MNone of these
Tho difference in selling price of o radioat
gaing of 10% and 15% iz s, 30, Iind che
price of the radio ?

) B0 fh} 870
fe} GRO fel} BN

Asum of money becomes 7a el iFaelf ind
yeurs at certain vate of interesl . Findgdhe
rate,

frad 0%
fop A%

{ G v
fi) A2%

. Thie differerce hetween/simple and

compound matdhod mer0et on oo ocerlain
sum of money far 4 vears ar 1% rate of
interest 1z Be ®5 ind the sum.
fu) RadBnin fh) Ra 124100
i Rs. 10000 fif) Bs. 1LRO0

. An artieleis Lizred Bs, 150 with a discount

GZ20%, WE L gdditinal diseounst strould

40,

41.

42

44,

44.

44,

27,

L) H]"..'EI]. LS IJ'.]L\-" S LA LA .'J.].E AT LA pE e TR BT

Tls. 10K,
foeb 1%
fo) 9%

th) 12%
il Mone of these

. Whal will be the speed of the water s

bual going at 9 kmdhr io sl water anal 22
kma/lir v doemstream aird comns back in
Ledal throo hours,

fee) 1 kil fh) & kmfh

fed LA kmdh fofi 2 kmfh

A man saves 25% of his salavy. TN due Lo
price rise he incresse his rontly expensses
Ly 5% and he is able lo save only Hs 23
per month. Find his monthly salary.

fa) Hs. 400 (b) Rs. KO0

fel 1ds B0 fidl s, 660

The voliune of 2 wall i+ L6L38 clibic
metre. Ivs helght is 6 rimes lodos braadth
and length is 7 times to its height, Kind
Lae broadth ?

fre) 4 m {hl (4.5 m

jr) 1o ni jil} Waneod theze

A vassal containg 200 litres of milk 50% of
il. ix Laken out cwery day znd equal
amounl of waterds added to. How nuch
quantity @k willfomain afrer 3 days?
fz) 12 Lilpe (ht 16 litwe

T () 12Y; lite

O [fthyof a number oxeeeds is one
gevedth D 1ad, Find the ounbees 7

(1) 2A95 (B 26003

(Bl 27N} fa) 30
i[ 20X = X5 then X = 7

@ 25 () 47
() 45 () M0

A man sold 10 eggs for one ripes and thus
gained 20% profit. Ilow many eggs did he
buys for Be, 17

f) 12 B 14

fe) 10 {7 1a

. A and B invested Ba. 3000 and B, 2000

respoctively ina partnership husiness in
which A& wus sleeping pariner. Al the 2nd
af one month bachy pecelved R, 150 each as
protie. Find IVs remancration for his
worl?

(@ Re. 50 ty Rs. 30

feb H=. B ivlt Nome of thasze
In an examination 40% studente fail bn
Nlachs, 30% in Eng'ish and 15% in bath.



Find the pass percentage 7 d upples and & eranges cost 37 paisa, Find
fisd 0% {b) GEY% the cost of an orange 7
e} A0 (e} 4% fa} 3.5 paisa B 3 paisa
48, Thesum of nge of o man and hiz sanis 100 fz) Gpaisa fd) T paisa
yre. 30 yrs ago the man was three times | 3. Average age of 241 siudents 1z 16, I
ax nld as his won. Tind the age of hiz son teachers arc is inchiced the averape age
Al present 7 increases by 1.0 Find the ape of sthe
) 30 b)) 40 teacher?
fe) &0 i) Maone of these fex) 41 yrs by A5 yre
49. If3 apples and 4 cranges coxl 40 parss and fo) 24 vrs fedd LB yra.
EXPLANATORY ANSWERS
L (hy: 10 of 2500 = 260, e, 2500 — Y50 = y250 | 6. (b): 7+ y=4 (0}
A 2150 o+ 10w+ 18 [t v
20% of 2850 = oS = R=. 430 — 90+ Oy=— 18 [
Rs. 2250 — 450 = Rs. 1500 9o + g8 TJ‘?E & lptied by 9]
: Lge 118 multiylied by
13% ol 1800 = 157{:5‘?}1 = Hs. 270 ey — a4
Rs. 1800 — 270 = Rs. 1530 ks
. a=4i-3=1
Percentzge of expenditure on food and NuFhor = 13
aloth = 1330 1aa = 3L 2 Toloy: Buppase Kubir has Ra X
G 2=+ 8
2. (a): Toetal diztance covered P _4=X+2
=3b 1 270 1 B0 =385k_rn._ X=g
Total [Ame Laken =1+ + e W of6is=5
= 13/2 hre, 8 (e} LEM of 4, 12, 16
ﬂverage Speed =T = 35}_?::2 = 45 + 3 = 51 not divisible h}’ T
K 48 % 2 + 3 = 99 not divisible by 7
= 59 23(km'Mhr, 48 %X 4 + 3 = 147 divisible by 7
, ek —Y = b BE0 X TIH) 20K
o {3}5— [;I; = ?J(Y _5) e o T T 3 BRe 8868
X —GR=238%Y -5 10. {ay:Bowvs = x, Girls = x + 2
.8 =S18+5 ) 108 + 20 [x + 2)= 280
Fow X =¥ = 90 0% + 20 + 40 = 280
¥ - 0% = g0 Alix = 240
€Y= 0 Y =15 =8
X216 +20=125 1L {by X-16110=14
4, (d); Totat distance=2 x 35 = 70 k. i X=%
: = T2 % 60 = 210 X+168-10=2¢
=8/ % 70 =175 km 12, {b}: Supposc hia wrong answers were X
Potal distance= 455 k. Numbers of vight anawers = 108 - X
Total time = 2 + 2 + 32 = & hrs. (05— Xy 18X =0
Speed = 165/8 = BE.8T km/ — 4734 =- 108
B(di A=1,B=1+1=2D=2C=5+2 X2 L8 x5
— ';,r, Xl
n=24+5=5 13. {bk: Count the number ol squares in the




figure and mulliply it by Jd.
14. (a): [n 20 minates it climbs 8 melre,
4= 180
20
= 77 moelres
I slips dewn 2 melrez in vvery 20
minutes. So ils last roach o the wop of
the po'e excludes this problern. So tolal
lengih of the pole =72+ 2 =74 m
5.2 — 1.00 = 2.52 1= totul duration.
Adjusgtment time=4 % Aminutes = 1Zm
D58 - 0.1 =240 kours
1200 + 40 = 160 minutes
Duralion of cach pericd = 16054 = 40
mirnutes
16. (a): 10 apples + 20 Orange = 20 apples + 15
orange
a0 - 15 0 =204 - 16A
50 =5 A S0 orange = Apple
17. (b e = 500
[8.1{a): 20— L5 =dArchiddren
20 chitdran= 12 adults
5 children = 2 adults
18, (b%:The numher is being reversed. I
meuns tho right side would be
comaidered] left

Tn 180 minutes 1. climbs =

15. (d): 7

20, (ak: Babloo Fermvesn
right — 4th Tth — left
Exchange 7Lk —4th =3

15th + 4th position of Bahioo
=15+ 3 =18 girls
Fites row = 4 + (B w B) = 2i)
Second row = 9+ {3 & 2Y= 15
Third rorwr = Gk {6 A= 15
2% (a): Numhets are givenan theJeftside and
their squares enfthe sighc gide.
w5 ey (Hd trees are i
1/2 of the flower bedeing trees = Lid =
el
B — 174 Il S remain left
Frifobearing trees are 172 af the tolal.
Lf albof ther are old il meanz 1/2 = 142
Al
Mg + 102 = &4 are old in focal.
24,4 0A T C D E iz a =ix point scale

21. {e):

6. 5,4 3, 2, 1 are niwmerical values

Subiect.= Grade Numcorieal value
Englizh It L

Maths 0 G

Belenoe |k 4

PT. i 4

Socisl Scirnee O 3

Orver all grade 18/5

38~ 4=H grade
25, (a): Tnral soudents
= GO0 + 200 + 100+ 150 = 10560

:ya — _k_m }f@ — E?E = l:],'-' 11'_;,;
EEE T T 50 7~
26, (c}: 20 | 15 =33
Be(a):4 -0 4ED 7
: EA R
A =4A0K =X = i =3ﬁﬂ\

28, (h:{12 % 204)/15673 = 146 Gtre
29, {c): 62 - 32 = 30 days
— 2/3 = Lidwork
. 2% work xdone 1n 132 days by 60
wurkerq
.« 1lwnrk ds done i1n 32 days by

Gl 3w 32

3
A 18 work is dome n 30 days by
(B 5 = 322 » 3 » B0) = 32 workers
Reduction = 60— 32 = 28 workers
0. (h): (3. 10 100)/180.50= “a X (00— gy
G0, () (A6 1 {0 B0="oney 2
17+57
3. (b =T4R=ET
32. (n): 100 + 252126
255100 o
125
33 () 20% of Rs, 50 = Ra, 10
He gets one dozen in Ha, 10
546 100
— — G600

)

Yage =

84. {a): CF before loas =

10% of 500 = 60
P = GO0 + &0 = 660
35, (d): 15 — 10 = 5% = 30 then 100%

100 30
T

= g0
36. (2): 75 % |00 = 149 — 100 = Rs, 40 increase



g, A} inercases it 8 vra, Hale = 4045

= H%
37 {o) Compound Tnterest on R, 104
_ J:?Ux.i_]le _ 100
=20

=441 — 10 = 4144
Himple intovest on Re, 106

=h %2 1WT00 = 10
[Aatterence =41/ — 10 — t/4

L =25
100 = 25 % 4 % 100 = Re. 100610
AR, () ¢ 20% of 150 = 80
' 160 - 30 =Rs. 120

120 — 108 = = 12 as discount
Discourt *age = 12 x 100/123 = 10%;
Lel Lhe spoad of Lhe water = X
Speed of the hoat down stream— 9 +X
Speed ol tho boat upstroam =0 - ¥
Distanee eovered = 18 km
Time = Distance Covored/speed

[2 12

#h = 94X 9—X
B -Xy=108 12X+ 108
+ 12X)7 (9 + X) (3 4%
IO+ B-X =218
([94-X1{8-X)~ 72
81 Xi=172
He=_3u+ 7%

39. ()

(38 + 30—

X=0,X=2
44. {a): Hxpenses hafore price msc S T 25 =75
28% inorease indupdhaed = 1004 25
= Tla 195,
P 125
Momhly sxpences= - lth

SHEwIng = ]If]'[fl—E =

4
[f savingyis 2571 Lhen salary = 100
I, saving 1z 2% then salary =

L0 = 25 3 4
25

hltf.hlu’.

= Kea. 400
4D, {&): Lot the breadth he X
Heirh = A%
Length =7 x 6% = 42

6124
20

LE128  252X5 X =
=g
X=4
42 {d): 100 — 30 = 50 = Firet doy
Al — 25 = 2k = geeond day

70— 12% = 12% = Third day
43 (ah Vo — 17= 154
A = 184
154 %35
1= 2 — |
=77 % 53 = 2695
d, (D) X2 = 20 % 45, X =A000) =
[ bz 1000
5 a1 T —-— el
44, (an C.I of 10 cgaa= 130
= 2R pelse
C.F.of L egg= 25005 % 1110 = 45/3 paize
[0 3

Howmanglin 100 paize = T 12
46. (a)fHatio 66X and B 4:2 or A% and 40%
profit
Letghs profit o A = 53X and B — 2%
BI: less Lhan A by ¥ in ratio
S+ 3N+ X =000 % X =30
4T0d): A% — T8% = Y5% + 30% = 53%
100 — A5 = 45%,

48. (b} a L+ b=100 R
a—30-3{b—3m
a— il —3h-49n
a—ab=— 80
g+ b= 100
—4lh - TG0
b — 40

49, (d): 3 Apples + 4 oranges = 40 paise
4 Aple + 13 arange = 37 paise
Bu + db = 40
da + 3b =3
12a + 18L = 260
12+ 9L =111
7h =44
b= 7 puise
50. fa): Total age of buys- 13 % 84 = 1360 yra.
Total age of bovs incliding tescher
=16 = 95
= 400
Teacher’s age =400 — 360 = 40 vears.



Typi TVE

I [fed4 % 13=5§37=13=0,26% 11 =03,
then 56 = 22 =17

fa) 26 ¢fh) 30
ey T fedl 11
3 [f1=5%2=53=7 4= ther 77
@y 13 i 13
fep 17 fef) 11

3 Hf1=12=4 3= 10andt4=22 then
5=
{ez] 39 fh) a4
(d 44 i) 18

4 insert the apithmaticel sume in Lhe
fullewit g numearical figurs,

9§ 3= 237
fﬂ,] BoE {b'] T +
fig =, 4 ) -, -
5 losert the pumerical signs in the

following numemecal figore. 882 1= 14
frgb — = - bl — - %
(C.-:I Ry — (d.} +: T X
6 Tid=24=6 2% &=4, 1% 3=5 thenfind
the value of 7+ 21 Y
ferb 432 fhl 21
i 3 il G
If + means ¥, — moans +, - means - and
% means - find the valus of 4 +6 -2 % 12

=]
.

-4,
£) 1.'_1.1 by 28
£
fc) 34._;: {d} Noneofthgee

Directions for question$fand 2 :
If = slunds for = = agande {0 =
* gtanda for = + gladids, fur <
= atands for # ~hands for &
8. Tind the valudela = p=Y

f) a— [ =0 by =B =Y

o) a-H>% iy Mone of these
0, g > b )¢ Mpans

(g & & i a=b=e

fr) =8>« () Allaf these

10. Ifi-]iiﬂ"5=15,'5>C3=1Ei.t53=<2:30_1*"ind
tha value nT 4% A=

11.

1%

13.

14,

148

16.

17,

138,

fa 12 YIRE

fr) 33 {20

Tf A mzans squarte the first number and
then multiply it hy the next number and
g means: multply the preduet with the
seeomd nimber and sublract the secerd
aznber from Lhe product of the Lwo
numbers then find the value of 24 1357
() 5% &) B0

fel 7 (d} 24

On the hasiz of the question 11 find ghe
valueaf A3 2a 2y

TREL Y b 44

fr DES fel] Mane of thoss
The ratio of bovs and virlsim agchaal is
3 2. 20% of bovs and 25% of gurls are
scholarship holders. Thopsrcentage ol
atdents whe are scholarship folders ave ?
fa) 43 th JS

fel GO0 (ol 22

A bag condfinz amedual oumber ol cne
rupee, BN paisa dnd 25 pawsa oons. [fthe
vulu@Bhmotiesn the bag 13 Be. 33, find
theltoid] Bumber of soins of each trpe ?
fout 7 i A0

fey, A fd) 20

If &= B weans A is the daughter of B,
A« B means A isthe sonof B and A — U
means & s the wife of Blhen P4 -8
means ¢

fa) 8 is tha futher of I

) 4 iz the father of P

fed A& lsoson of

frf) MNone ol tuese

Charge the sign to find the cquiation 23 -
ra+2=x2=0

() Change + nto =l Change * into -
{i Change —into 4 (d) Change +1nto
If + meoans divide, ¥ means minus, *
means multiply and - mens plus, then
find the value i 9+ 3+ 4 -8 =27

() 14 fhy 17

(i 174 id) 18

Which of the two signs should ke changed



Lo male the equation correct,

6 3+ A—2+13) = (Tx% 2 =4
(- — b}

fel @+ () ¥ —

13 If g means > CIwmeans < and A means -
and A B BqCand DA A, then which
of the following iz correcl ?

{i] B>D fb) = A
fel =1 fet) None of theae

20. ITow many pillars ave needed to ol ruct a
bridge of 300 metre long, if pillars are at
a distance of 12% metres each.

i) 2% i) 24

2 (eI} Wone ol these
2L Ir 12 =10 and 32.= 26, Lhen 22 =9

f] 20 (16

fel 18 (fy 17

22. A man digs & trench in 3 days, another

man can dig ik in 6 dave and thitd man

can dig it in & days working alane. How

much time will they taks t dig i

togetier 7

fz) 17 days by 3013 days

fe} 1980 days ) Muneofthess
3%, What sign should be changel o rbke

the cquation 5 + 8 = 3 — 12 » =47,

correct!
ay + + fbj +
o) + x (cf) Nonc of theas

24 MO EoUB8 3x T = |2 2% - 38 (hop
{ind the vaiue of 14 €147
jo} 164 el 120
fc) 120 (i

26, TFHG % 1t = 0MBE ¥ |3=F 49 % 12 =4
ihen find e vdlueof 37 « 77 =7
{i] 1 fh) 4
fe) 4 i 5

EXPLANATORY ANSWERS

ey (8+4)— {1+ =8.(3+T) (I + D=
Band 5+ 8 - {2+ =7

2. {a): Assigned codes are increasing at an

interval of 4.

1, 2, 8, 4, 5, (Digits)

1, 4, 10, 22 46 (Code), Gapgdspbeins

doubled at every digit.

3. (d);

1. (a}: Alwaysapply the rules of BODMAS in.
such type of problomsg, Inthis préblem -

multiplication will be done 0t then
comes the vperation of =ddition and
fnally subtraclmal e )9+ 6x 3 =u7

b. (d): The explapation iswif answer Na, 4,
e, 3+E802x 3 =14

6. {ck The firstafigure ia divisor and the
segiingd one is dividend
2424 E 2 =4, 32124

T(ay -2 % 12 =4

X T+ = -
oG +2 122
4xXf+1fB-4
24+ 18— 4

145/6 - 4 = 191/ = zné-

Sdy (e ==
o= = It meang
aw By

Ba) a=hxe
=
d=h=r

0. {d: i+ 8= =8
(b rdrw 2 =14
B+ x2=un

1l.{a):2A 53035
Z®2«xA@3as
12g0s

) =12 BE-a=5h3

2 Ae)rhOdm2A2-(RAxi-dOu2a2
ST 2 _naAn
=222 =484 w2 =088

13. (d): 3: 20f 100 =60 and 40, 20% of 60 =12
gnd 25% of 40 = I

X X X T

: —+-——4+— =35 —

14. (d} Tre g 30 or 1
=45 or 7X

=35 % 4 0r X = 20
15, (a) P » G = s the son ol @ and € s wite
of 8. 8 i3 the [ather of P -



16. fa): 28 - (3 + 4 = {2x B =0

17.{n): ) S +4 4 —-Hx12
i) 9 =3»3+8-12
i) 9= 1@xg rad -2
fin) +8-2=15

18. {d}

19.{ay A<D (1
B¢ )
D=2A =

Bx=C, B>A=1)

a0, () 300 + 25/2 + one pillar = 300 % 2125 +
pne pillar = 25

21. {¢): Hera 2 poant drcresases ab every s,
eg. 12 =10 and 32 = 26

Sg the owrmber which 1s hitween
97 — 32 shanld he 4 poinw less, ie, 22=15

t I+0+5 b
22, [ak lﬁ+—_+l= — G :-ﬂ ar —Ddﬁ}'s.
i 5 6 3k 3 7

23.{&}:515—3+12+2117
24, (d): (4-1) (8- 1)=28
(—1)i7—-1 = L
(- (B - 11=23%
then (13 - 14¢:3 - 11 =144
(5+8 -1+ L=9
it —1+HN=4
4+2) -{1+&-3
then (5 + 7F- (71 Ta=1

V
XS

25. {a):





